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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The radius of curvature of a plano-convex lens can be measured by

1. Venturimeter

2. Travelling microscope
3. Vernier Callipers

4. Spherometer
Options :

85133015001. 1
85133015002. 2
85133015003. 3
85133015004. 4

Question Number : 1 Question Id : 8513303754 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015001. 1
85133015002. 2
85133015003. 3
85133015004. 4

Question Number : 2 Question Id : 8513303755 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The unit of length, parsec is used for the measurement of

1. Wavelength of light

2. Size of atom

3. Astronomical distance

4. Height of a building gcollegeduniaé
Options : gy Trmm———
85133015005. 1

85133015006. 2
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85133015007. 3
85133015008. 4

Question Number : 2 Question Id : 8513303755 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015005. 1
85133015006. 2
85133015007. 3
85133015008. 4

Question Number : 3 Question Id : 8513303756 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The resistance R = V /I, where V = (200 + 5) V and I = (20 + 0.4) A. The percentage errorin R

is

1.54

2. 4.5

3.46

4.0.5

Options :
85133015009. 1
85133015010. 2
85133015011. 3
85133015012. 4

Question Number : 3 Question Id : 8513303756 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollegeduniaé
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1.54

2. 4.5

3.46

4. 0.5
Options :
85133015009. 1
85133015010. 2
85133015011. 3
85133015012. 4

Question Number : 4 Question Id : 8513303757 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The dimensional formula for surface tension is

T MLT™*

2. ML

3. ML°T?

4 MLT™2
Options :
85133015013. 1
85133015014. 2

85133015015. 3
85133015016. 4

Question Number : 4 Question Id : 8513303757 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. MLT™?
2. MLIT
3. MLOT 2
4 MLT™?

Options : g collegedunia:
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85133015014. 2
85133015015. 3
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85133015016. 4

Question Number : 5 Question Id : 8513303758 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A person goes upstairs from A to B, (see figure), with all steps of the same width and same
height. The magnitude of his displacement from A to B is

0.3m

<>

li‘.1‘§n|||¢

1.14m
2. 1.0m
3.08m
4 06m
Options :
85133015017. 1
85133015018. 2
85133015019. 3
85133015020. 4

A

Question Number : 5 Question Id : 8513303758 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
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0.2m

<+

Il15m¢

1174 m
2. 1.0m
3.08m
4. 06 m
Options :
85133015017. 1
85133015018. 2
85133015019. 3
85133015020. 4

A

Question Number : 6 Question Id : 8513303759 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A satellite is moving along a circular orbit of radius 10% km about a planet. Its displacement
when it moves from point A to point B is (see figure)

1. 2% 10* km

2. (E) x 10* km
i gcolle edunia:
3. ﬁ x 1‘]4 kn“l Indla'slargesl%denl Review Platform

4. % 10* km

Options :
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85133015021. 1
85133015022. 2
85133015023. 3
85133015024. 4

Question Number : 6 Question Id : 8513303759 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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B

8Q°

1. 2 X 10*km
2. () x 10%m
3.4/2 x 10%*km
4, X 10*km
Options :
85133015021. 1
85133015022. 2

85133015023. 3
85133015024. 4

Question Number : 7 Question Id : 8513303760 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The velocity-time (v-t) graph for a body moving with constant +ve acceleration is given by,

p.t

.,.t

’,t

v A
v A
s A

3 _//
A

vV

Options :

85133015025. 1
85133015026. 2
85133015027. 3
85133015028. 4

Question Number : 7 Question Id : 8513303760 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

85133015025. 1
85133015026. 2
85133015027. 3
85133015028. 4

Question Number : 8 Question Id : 8513303761 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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A projectile is thrown with a velocity of 5.0 ms™! at an angle 8 with the horizontal. Its range will
be maximum when 6 is,

1.15°

230"

3. 45°

4. 60°
Options :
85133015029. 1
85133015030. 2
85133015031. 3
85133015032. 4

Question Number : 8 Question Id : 8513303761 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

el Haifts ®f 8fd 9 6 DIV IR 5.0 ms' & 971 9 $dl T4 & | 3501 WY Afiead g, 9id 8
1.15°

2. 30°

3. 45°

4, 60°

Options :

85133015029. 1

85133015030. 2

85133015031. 3
85133015032. 4

Question Number : 9 Question Id : 8513303762 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A constant retarding force of 40 N is applied to a body of mass 10 kg moving with a velocity

of 20ms™'. The body will come to rest after travelling,

1.100 m gcollegeduniag
3.50m
4.25m
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Options :
85133015033. 1
85133015034. 2
85133015035. 3
85133015036. 4

Question Number : 9 Question Id : 8513303762 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 100m

2. 75m

3. 50m

4 25m
Options :
85133015033. 1
85133015034. 2
85133015035. 3
85133015036. 4

Question Number : 10 Question Id : 8513303763 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A hole is drilled in a copper sheet. The diameter of the hole is 0.5 cm at 27 °C. The change in

diameter of the hole when heated to 227°C is (Coefficient of linear expansicon of copper is
1.70 X 1075 K1)

1.6.8 X 1072 cm
2,68x107% cm
3. 34 %107 cm
417 %1073 ¢m
Options :
85133015037. 1
85133015038. 2

85133015039. 3
85133015040. 4 g collegedunia

Question Number : 10 Question Id : 8513303763 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Pl IR &1 9 d S g 991 T4 81 27 °C R 349 [958 1AM 0.5cm 8| 39 e &l 227 °C
a® TH & R 5% & o/ H gHaral URdd- © (19 @1 JRdd YR TUid = 1.70x 107° K1)

1. 6.8 X 10 %cm
2.68x10%cm
3.34 %1073 cm
4,17 X102 c¢m
Options :
85133015037. 1
85133015038. 2

85133015039. 3
85133015040. 4

Question Number : 11 Question Id : 8513303764 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A bob of mass 1 kg of a simple pendulum is held in the horizontal position (see figure). The
speed of the bob at the lowest point, when released will be (g = 10 m 52 )

<—1m

f 1kg

1m

v

1.24/10 m 57!

2.24/5m g7 1
3. 410 m s

4. 45ms
Options :

85133015041. 1
85133015042. 2
85133015043. 3

85133015044. 4 .
collegedunia:

Question Number : 11 Question Id : 8513303764 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1
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L

4. 45ms?
Options :
85133015041. 1
85133015042. 2
85133015043. 3
85133015044. 4

Question Number : 12 Question Id : 8513303765 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two identical particles, each having mass m, move towards each other with velocities 2v and v.
The velocity of the centre of mass will be

v
2v
V2
7ero

dao

Options :

85133015045. 1
85133015046. 2
85133015047. 3
85133015048. 4

Question Number : 12 Question Id : 8513303765 Question Type : MCQ Option Shufgco"egedunlag

Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Uption
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. v

2. 2v

3.v/2

4.3
Options :
85133015045. 1
85133015046. 2
85133015047. 3
85133015048. 4

Question Number : 13 Question Id : 8513303766 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The radius of gyration for a solid sphere of radius R and mass M rotating about an axis passing
through its centre is

et
=

M
Wi bden| b

=]

LA
=

<&
Wil e | el e

d=
=

N
Options :
85133015049. 1
85133015050. 2
85133015051. 3
85133015052. 4

Question Number : 13 Question Id : 8513303766 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015049. 1
85133015050. 2
85133015051. 3
85133015052. 4

Question Number : 14 Question Id : 8513303767 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A disc has angular acceleration 4 rad s and initial angular speed 2 rad s71. In 4 5, the disc has
rotated through an angle of

1. 14 rad
2. 24 rad
3. 40 rad
4. 56 rad
Options :
85133015053. 1
85133015054. 2
85133015055. 3
85133015056. 4

Question Number : 14 Question Id : 8513303767 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 14 rad
2. 24 rad
3. 40 rad
4. 56 rad
Options :
85133015053. 1
85133015054. 2
85133015055. 3
85133015056. 4

Question Number : 15 Question Id : 8513303768 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The variation of intensity of gravitational field (E) of the moon (having radius R) with distance
(r) from the centre of the moon is represented by

A
E
1. r
>
R
A
E
R r
2 >
A
E
3 \_‘ r
>
R
A
E
. R r
4. V .
Options :

85133015057. 1
85133015058. 2
85133015059. 3
85133015060. 4

Question Number : 15 Question Id : 8513303768 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical col Ieged unia:
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A
E
1. r
>
R
A
E
R r
2 >
A
E
3 kd r
>
R
A
E
. R r
4, V >
Options :

85133015057. 1
85133015058. 2
85133015059. 3
85133015060. 4

Question Number : 16 Question Id : 8513303769 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical col Ieged unia:

Correct Marks . 4 Wrong Marks . 1 India’s largest Student Review Platform
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A planet has a radius twice but density 738 compared to earth. The ratio of escape velocity

from earth to that from the planet will be,

1. 1:2

2. 1:1

3. 21

4. 31

Options :
85133015061. 1
85133015062. 2
85133015063. 3
85133015064. 4

Question Number : 16 Question Id : 8513303769 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1.1:2

211

X 24

4.3:1
Options :
85133015061. 1
85133015062. 2
85133015063. 3
85133015064. 4

Question Number : 17 Question Id : 8513303770 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The escape velocity of a rocket launched from the surface of earth towards a planet

1. Does not depend on the mass of the rocket
2. Does not depend on the mass of the earth

3. Depends on mass of the rocket .
s _ collegedunia:
4. Depends on mass of the planet towards which it is moving Idias Largest Student Review Platform

Options :

85133015065. 1

85133015066. 2
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85133015067. 3
85133015068. 4

Question Number : 17 Question Id : 8513303770 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U] & g 1 B4l U @1 SR yHifad fed dse &1 gardd 97

1. 3Phe & GO TR MR T8 @l o
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Options :

85133015065. 1

85133015066. 2

85133015067. 3

85133015068. 4

Question Number : 18 Question Id : 8513303771 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For a geostationary satellite the angular speed in unit of radian per hour is,

1.m/12

2 m/6

3.m/2

4 m

Options :
85133015069. 1
85133015070. 2
85133015071. 3
85133015072. 4

Question Number : 18 Question Id : 8513303771 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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1.m/ 12
2.m/6

3. m/2

4w

Options :
85133015069. 1
85133015070. 2
85133015071. 3
85133015072. 4

Question Number : 19 Question Id : 8513303772 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The elastic energy stored per unit volume in a stretched wire is,

A 1
I.

(Young's modulus)x (strain)
2.
3

2

: ; (stress)/(strain)

(Young's modulus)x (stress)~

= B3 [ =P

(stress)x (strain)?

Je

Options :

85133015073. 1
85133015074. 2
85133015075. 3
85133015076. 4

Question Number : 19 Question Id : 8513303772 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4. S / Tagid) gcollegeduniag
Options : P Mhmmssm e o
85133015073. 1
85133015074. 2
85133015075. 3
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85133015076. 4

Question Number : 20 Question Id : 8513303773 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The radius of a spherical drop of radius r is increased by Ar. The extra surface energy is (S is

interfacial tension at liquid-air interface)

1. 4m(Ar)?S

2. 4m*(Ar)°S
3. 8n(Ar)*S
4, 8mr(Ar)S
Options :
85133015077. 1
85133015078. 2

85133015079. 3
85133015080. 4

Question Number : 20 Question Id : 8513303773 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 4m(Ar)?S

2. 4w (Ar)®S
3. 8n(Ar)*S
4. Brr(Ar)S
Options :
85133015077. 1
85133015078. 2

85133015079. 3
85133015080. 4

Question Number : 21 Question Id : 8513303774 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical g lleseduni
collegedunias
Correct Marks : 4 Wrong Marks : 1 .nd.aglarges(sgmem Review Patform
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The compound which undergoes sublimation is

1. Water

2. Ethanol

3. Dry ice

4. Coconut oil
Options :
85133015081. 1
85133015082. 2
85133015083. 3
85133015084. 4

Question Number : 21 Question Id : 8513303774 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1. il

2. T4l

3. X5 9

4, ARG BT
Options :
85133015081. 1
85133015082. 2
85133015083. 3
85133015084. 4

Question Number : 22 Question Id : 8513303775 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In Celsius scale a temperature (fc) is related to Fahrenheit scale temperature (tf) as

e tr =32
e 1.8
e+ 22
2. L= B
1.8
4 t, = 18(t, + 32)
Ontions: M collegedunia

85133015085. 1
85133015086. 2
85133015087. 3
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Question Number : 22 Question Id : 8513303775 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ST THH 31 Py d tc BYTeree - & 1 t ¥ 68 TPR Fefd il &7

t. — 32
1.8
£+ 32
L R
3. t, = 1.8(t, —32)
4 t. = 1.8(t, + 32)

1 -
Lty =

Options :

85133015085. 1
85133015086. 2
85133015087. 3
85133015088. 4

Question Number : 23 Question Id : 8513303776 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Estimated average thermal energy of a helium atom at room temperature (27 °C) is (
Ky =14%10 % ]

1.3 %107
Z a3 X107
3. 1.26 1072 §
42 B RH0-3)
Options :
85133015089. 1
85133015090. 2

85133015091. 3
85133015092. 4

Question Number : 23 Question Id : 8513303776 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical .
Correct Marks : 4 Wrong Marks : 1 gﬁq"fsg?ﬁluw']'?m
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B 1T (27 °0) R 51 ey A & ATeferd $ihd $E Sl ol & (K = 1.4 X 1072 |
KN

13T 10y
2,63 %1072
$126 X105 )
4.252%x107% )
Options :
85133015089. 1
85133015090. 2

85133015091. 3
85133015092. 4

Question Number : 24 Question Id : 8513303777 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following relationships between the acceleration @ and the displacement x of
a particle involves simple harmonic motion?

1. = —50x°
2. &:=50x*

3.a =50x

4 a=—50x
Options :

85133015093. 1
85133015094. 2
85133015095. 3
85133015096. 4

Question Number : 24 Question Id : 8513303777 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fadll BT & X0 ‘o' R AT x & 919 - QU 0 Heyl § § fad wxa gl i g
g7

1.a=-50%

2.a=50x )
. collegedunia:

3| a = jl::l x & India’s largest Student Review Platform

4a3=-50x

Options :

85133015093. 1
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85133015094. 2
85133015095. 3
85133015096. 4

Question Number : 25 Question Id : 8513303778 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A satellite of mass m is revelving in a circular orbit of radius r around a planet. If its kinetic
energy is K, then its angular momentum will be
| K
,J mur?
K
" 2mr?
3.y 2Kmr?
4.+ 2Kmr
Options :
85133015097. 1
85133015098. 2

85133015099. 3
85133015100. 4

2

Question Number : 25 Question Id : 8513303778 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
SHAM m B hls 39S (Ul Ug & IRI 3R & r B goig Ba1 H U $L el el aig
G 7w Sl K B, Ol S9®T HIUig Sd7 B -

[x

' ‘ﬂl mr?
K
" 2mr?
3./ 2Kmr?
4. \2Kmr

Options :

85133015097. 1
85133015098 2 gcollegedunias

85133015099. 3 N
85133015100. 4
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Question Number : 26 Question Id : 8513303779 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The flux of a uniform electric field E = 3 x 10%i N C through a square of 10 cm side whose

plane is parallel to Y-Z plane is

2.30Nm2 !
315NmM=C
4, Fero
Options :
85133015101. 1
85133015102. 2
85133015103. 3
85133015104. 4

Question Number : 26 Question Id : 8513303779 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gl THaH f9G0d &3 F = 3% 10% N ' &1 10cm YoTl aTd fav el o, o/ ad v-Z ad &
qO=R &, U TR el W &

85133015101. 1
85133015102. 2
85133015103. 3
85133015104. 4

Question Number : 27 Question Id : 8513303780 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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A parallel plate capacitor with air between the plates has a capacitance 8 x 1071°F. If the
distance between the plates is reduced to half and the space between them is filled with a
substance of dielectric constant 6, the new capacitance will become

1.16 %1072 F
2. 48 x 10712 F
3.96 x10712 F
4,192 x107 2 F
Options :
85133015105. 1
85133015106. 2
85133015107. 3
85133015108. 4

Question Number : 27 Question Id : 8513303780 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fardll g ufedT Huiiva, et ufgsiefl & o9 ag 11 §, ®1 9l 8x 1072 F 8131
R aTel & 9 @1 oft el X € W SR U Ee % 9 WiAGA® 6 1 B ugr W
SITQ, T =741 e g -

.16 %1072 F
2.48 x 10712 F
3.96 x1072 F
4192 x 1072 F
Options :
85133015105. 1
85133015106. 2
85133015107. 3
85133015108. 4

Question Number : 28 Question Id : 8513303781 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The guantity represented by the drift velocity per unit electric field is

1. Potential

2. Resistivity gcollegedunias
3. Current b

4. Mobility

Options :

28/153
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85133015109. 1
85133015110. 2
85133015111. 3
85133015112. 4

Question Number : 28 Question Id : 8513303781 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ui Uebidh fagqd & 3fUdig 97 @l A&iUd $< dieil Hifde i &:

1. faya

2. UfaRidar
3. YR
ERIIGEING]
Options :
85133015109. 1
85133015110. 2
85133015111. 3
85133015112. 4

Question Number : 29 Question Id : 8513303782 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In circuit (see figure), the ammeter and the voltmeter readings are 4 A and 10 V respectively.

The value of R will be -

R
@ VAT
0,
an
|
| T
10V
1.= 2510
2.2.50 .
collegedunia:
3.<250 4 India’s largest Student Review Platform
430
Options :

85133015113. 1
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85133015114. 2
85133015115.3
85133015116. 4

Question Number : 29 Question Id : 8513303782 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fau U ufvgy (3mivg ¢RgY) § 3ifiey 3R dicedic & Uledid HHT: 4A 31X 10V & | 99 R BT HH
s (@i &1 meRf miAg)

R
a
0
p—y @

4n

13225 0
2,250

3. <250
430
Options :
85133015113. 1
85133015114. 2
85133015115.3
85133015116. 4

Question Number : 30 Question Id : 8513303783 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The resistance of the filament of an incandescent lamp is

1. Greater when switched off

2. Smaller when switched on

3. Greater when switched on gcollegeduniaé
4. Same whether it is switched on or switched off < mmmm———
Options :

85133015117. 1
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85133015118. 2
85133015119.3
85133015120. 4

Question Number : 30 Question Id : 8513303783 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fardt aTudie A & firard= &1 ki SlaT &

1. A o9 a9 % g S B |

2. Y 99 1ad 3F [Far A g

3. 3% 99 g9 o7 fFa oran 21

4, THH 35d1 &, OTt [Xad 3% @< 314l [kag 34 B
Options :

85133015117. 1

85133015118. 2

85133015119. 3

85133015120. 4

Question Number : 31 Question Id : 8513303784 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Two electric bulbs have ratings as 40 W, 120 V and 80 W, 240 V. The ratio of their resistances,
when not glowing, will be

1. 11

2. 1:2

3. 2:1

4. 41
Options :
85133015121. 1
85133015122.2
85133015123.3
85133015124. 4

Question Number : 31 Question Id : 8513303784 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Ontion

Orientation : Vertical collegeduniag

Correct Marks : 4 Wrong Marks : 1
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ol faggd Seai & AP 40W: 120V 3R 80W; 240V B | S UiaRi4l &1 3-Urd 81T (Jd dca
EUCTEGRGES
1710
2.2
3. 21
4, 4:1
Options :
85133015121. 1
85133015122. 2

85133015123.3
85133015124. 4

Question Number : 32 Question Id : 8513303785 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The magnetic field near a current carrying conductor is given by

1. Coulomb’s law
2. Lenz's law

3. Biot-Savart law
4, Kirchoff's law
Options :
85133015125.1
85133015126. 2
85133015127.3
85133015128. 4

Question Number : 32 Question Id : 8513303785 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i fou e g g9 g1 ol YRIaTe] 9@ & Fde e &F ®f Hedd [l oidl 87

1. PAH I HgH

2. ol @1 |

3. 911 - gae &1 g8

4, THI® &1 F99H

Options : gcollegeduniag

85133015125. 1 -
85133015126. 2
85133015127.3
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85133015128. 4

Question Number : 33 Question Id : 8513303786 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An a-particle enters a region of uniform magnetic field whose direction is perpendicular to the
velocity of a-particle. Then we can say

1. Speed of the a-particle will increase

2. Speed of the a-particle will decrease

3. Speed of the a-particle will remain the same

4. The velocity of the a-particle will remain the same
Options :

85133015129. 1

85133015130. 2

85133015131. 3

85133015132. 4

Question Number : 33 Question Id : 8513303786 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
DIE o - DU o dl U8 THEAM TSI & H Ud2 Sl § ! (6 o - B0 & o7 ool fgmmn o
THEad ¢ | 76 §H ®E §od © [

1. o - HUI DI dIeT §¢ S|
2. o - DU Pl e U SATET |
3. o - PO @I I GHH B
4. o - B BT 97 95 B
Options :

85133015129. 1
85133015130. 2
85133015131. 3
85133015132. 4

Question Number : 34 Question Id : 8513303787 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollegeduniaé
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Two galvanometers A and B require 3 x 1073A and 4 x 107* A currents respectively to produce
the same deflection of 25 divisions. Then we can say

1. A is more sensitive than 8

2. B is more sensitive than A

3. Both A and B are equally sensitive

4. No inference can be made about the sensitivity from the above data
Options :

85133015133. 1

85133015134.2

85133015135.3

85133015136. 4

Question Number : 34 Question Id : 8513303787 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ol TegaTHTed A 3R B H 25 309 &1 THH G800 30T B3 & 00 AGI0D YRIT HH:
3x 10 %A 3N 4x 103 ACIGE CH P UPd g @

1. A DI Qligdl B § H9S B

2. B ! QUiieal A T 3@ B

3. A 3R B QUIRAT THH B |

4, SWRIG MEHS! & HUR W B3 F5HY el FHebra of G o
Options :

85133015133. 1

85133015134. 2

85133015135. 3

85133015136. 4

Question Number : 35 Question Id : 8513303788 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The universal property of all substances is

1. Diamagnetism only

2. Ferromagnetism only

3. Paramagnetism only

4. Both paramagnetism and diamagnetism glcdlegeduniaé
Options : W rmmm—
851330151371

85133015138.2
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85133015139. 3
85133015140. 4

Question Number : 35 Question Id : 8513303788 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

it ugrf &1 adhe e § -

1. Baa Uiddad

2. Bad dle e

3. Haq AT

4. IIFHE SR UiigraE il
Options :

85133015137. 1

85133015138. 2

85133015139. 3

85133015140. 4

Question Number : 36 Question Id : 8513303789 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The graph (a) and (b) gives the dependence of two reactive impedances X7 and X> on the
frequency of AC voltage applied across them. We can say

A

>

Xl K.E

Impedance
Impedance

. >
Frequency Frequency

(a) (b)

1. X7 is an inductor, X> a capacitor
2. X1 is a resistor, X3 a capacitor

3. X7 is a capacitor, X> an inductor
4. Xy is a capacitor, X; a resistor gcollegeduniag
Options : Idiasargest Student Review Platform
85133015141. 1

85133015142. 2

85133015143. 3
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85133015144. 4

Question Number : 36 Question Id : 8513303789 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fGT 71T T (a) AR (b) T Haard! Uidarena x; 3R X, 3, I7d =T W TG ac dicedrad
@1 SRl TR (a1 @1 <=1d €1 59 6 9od © 1B

yfraten & ufitaen I/

S g

(b)

1. X, BIg IRP © ; X, BIs GHIRA B

2. X, IS URIUT € ; X, D3 U A ©
3. X, D3 QYA 8 ; X, Pls IRD &

4, X, Bls GIRA T ; X, DI HRIUD B
Options :

85133015141 1

85133015142. 2

85133015143. 3

85133015144 4

Question Number : 37 Question Id : 8513303790 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Current varying at the rate 4 A 5™ in a coil generates an emf of 16 mV in a nearby coil. The
mutual inductance of the two coils is

1. 4.0 x 1073 mH

2. 40x107% H

325102 H

4,25 %1072 mH

Options : gcollegeduniag

85133015145. 1 ¢
85133015146. 2
85133015147.3

85133015148. 4
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Question Number : 37 Question Id : 8513303790 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fdl pusHl H 4as @ &X 4 [d@R01 =4 drcll 4R b4l Hdbedad] pusdl H 16mV @i emf 30
Bl 81 GHT USRI BT 30 IRP I & -

1. 4.0 x 107% mH
2. 40x102% H
3.25x1072 H
4,25 %107 mH
Options :
85133015145. 1
85133015146. 2
85133015147. 3
85133015148. 4

Question Number : 38 Question Id : 8513303791 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If 3 current of 10 A in a coil of self-inductance 5 mH is cut off in time 0.1 s, the induced emf in
the coil is

1.05V

2. 50 mV/
3.5mV

4 0.5 mVY
Options :
85133015149. 1
85133015150. 2
85133015151. 3
85133015152. 4

Question Number : 38 Question Id : 8513303791 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
gcollegedunias
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gfe fbdl 5 mH WIRSdE B fodl pUsdl H Ydifad 10A YR 0.1 s 5 GHIE 81 9l &, a1 39
PUscl § URT emf 8RR

1.05V

2. 50 mV
3.5mV

4. 05 mV
Options :
85133015149. 1
85133015150.2
85133015151. 3
85133015152. 4

Question Number : 39 Question Id : 8513303792 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The core of a transformer is made of

1. Copper

2. Aluminium
3. Soft iron

4, Steel
Options :
85133015153. 1
85133015154. 2
85133015155.3
85133015156. 4

Question Number : 39 Question Id : 8513303792 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ST & 1S §-1T 9Idl § -

1. DI @

2. Tqfafas &1

3. BIHT TG @

4, T B

Options : gcollegeduniag
85133015153 1 gy Trmm———
85133015154. 2

85133015155. 3
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85133015156. 4

Question Number : 40 Question Id : 8513303793 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In an AC circuit having only a capacitor, the current
7

1. Lags behind voltage by /2 in phase
2. Leads the voltage by /2 in phase

3. Leads the voltage by m in phase

4. Lags behind voltage by m in phase
Options :

85133015157. 1

85133015158. 2

85133015159. 3

85133015160. 4

Question Number : 40 Question Id : 8513303793 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
had YHUIRA & [l ac IRTY H, YR &l H dicear A

1. 7/2 UY BIdl B
2. /2 A Bidl B
3. 3B Bl
4 Uy B Bl
Options :
85133015157. 1
85133015158, 2
85133015159. 3
85133015160. 4

Question Number : 41 Question Id : 8513303794 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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If the total energy of electromagnetic waves falling on a surface is E, for total absorption, the
momentum delivered will be (c is speed of light)

1. EfcC

2. 2E/c

3. 4E/c

4. E/2c
Options :
85133015161. 1
85133015162. 2
85133015163.3
85133015164. 4

Question Number : 41 Question Id : 8513303794 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
afe; fedl gy W Tl fagdd geia a1 &l o el £ 5, df gof s & ferg fear
D G Bl (c & HaT= &I a7 )-

1. E/c

2. 2E/c

3. 4E/c

4 E/2c
Options :
85133015161. 1
85133015162. 2
85133015163. 3
85133015164. 4

Question Number : 42 Question Id : 8513303795 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When light travels from one medium to another, the following will change

1. Frequency and velocity only

2. Frequency and wavelength

3. Wavelength, velocity and frequency only

4. Wave length and velocity only glco"egedunia@
Options : -
85133015165. 1

85133015166. 2
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85133015167. 3
85133015168. 4

Question Number : 42 Question Id : 8513303795 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
oi§ W12l Ueh HIE0H ¥ guY HIH H 8- &l § ol HalaRdd § TRad- gRT -

1. aq AR AR 9T

2. 1GRT 3IR Ted

3. Haq JUGH, 97 3R Mg
4. B dUTGd SR a1
Options :

85133015165. 1

85133015166. 2

85133015167. 3

85133015168. 4

Question Number : 43 Question Id : 8513303796 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A convex lens of focal length f and refractive index p, is immersed in a transparent liquid
having refractive index . If py>pg, then

1. fwill not change

2. fwill increase

3. convex lens will behave as concave lens
4. convex lens will behave as glass slab
Options :

85133015169. 1

85133015170. 2

85133015171.3

85133015172. 4

Question Number : 43 Question Id : 8513303796 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollegeduniag
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BIH Gl - f YT UGB 1, BT D5 Sud o ATddHID y; $ [bdl IR g9 H gaid1
W%Iﬂﬁ?p };@%ﬁl:

1. f gRafdd 981 srM|

2. 14 gfg g st

3. 390 oY 3gdd g P Hifd SHaER ST
4,399 oY $id B Uit & Yifd TaeR ST
Options :

85133015169. 1

85133015170. 2

85133015171. 3

85133015172. 4

Question Number : 44 Question Id : 8513303797 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A needle placed 45 cm in front of a lens forms an image on a screen placed 90 cm on the
other side of the lens. The lens and its focal length respectively are

1. Convex ; 30 cm
2. Concave : -30 cm
3. Convex; 25 cm
4, Concave ; -25 cm
Options :
85133015173. 1
85133015174.2
85133015175.3
85133015176. 4

Question Number : 44 Question Id : 8513303797 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ool o9 & TH- 45cm gl O RYyd 64 Qs &1 ufafers oY & godl 90cm g M YT 9 W
A1 2| T8 oY 3R 3D Iy g3l HH: § -

1. 3dd , 30cm

2. Hddd, -30cm

3. 31d, 25cm gcollegeduniag
i eyt R ——
Options :

85133015173. 1
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85133015174. 2
85133015175.3
85133015176. 4

Question Number : 45 Question Id : 8513303798 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A ray of light is incident on the surface of a glass plate having u = v/3 at the polarizing angle.
The angle of refraction of the ray will be

1. 30°

2. 45°

3. 60°

4. 75°
Options :
85133015177 1
85133015178. 2
85133015179. 3
85133015180. 4

Question Number : 45 Question Id : 8513303798 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
u = 3 o7l id BT Ufe e & gF TR §aul U] U UHIE HT0aq B <6l 6| 59 B0l &I Huacd
N2 -

1. 30°

2. 45"

3. 60°

4, 75°
Options :
85133015177. 1
85133015178. 2
85133015179. 3
85133015180. 4

Question Number : 46 Question Id : 8513303799 Question Type : MCQ Option Shuf gcollegedunias
Question Number : Yes Is Question Mandatory : No Single Line Question Option : N 7 s restsuentioie o
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An electron and a photon have same wavelength and their momenta are p. and p,
respectively. We can then say

1. P =1

L Pe =Py

3.0 =Dy

4. No inference can be made
Options :

85133015181. 1
85133015182.2

85133015183. 3

85133015184. 4

Question Number : 46 Question Id : 8513303799 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ol el AR fhdl BieH ®f ailad YA § 3R 39d Ydvl HH: p, R p, &l TH He
Hehd & o -

1.0 >p

2 Pe <Py

3.0 =1

4, B3 HerY el Mo of 9&dl 8|
Options :

85133015181. 1

85133015182.2

85133015183. 3

85133015184 4

Question Number : 47 Question Id : 8513303800 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The value of X and Y in the following nuclear reaction respectively are

2393” g —+ 1%{'.@'!} [ ‘f-:"."b +45n

1.98 ; 41 .
2.102: 40 collegedunia:
3.103 ; 41
499,41

Options :
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85133015185. 1
85133015186. 2
85133015187. 3
85133015188. 4

Question Number : 47 Question Id : 8513303800 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g &1 T A A O X SR v @1 U & -
25U + gn = 131Sb+ INb + 43n

1.98; 41

;40

* 41
.99 41
Options :
85133015185. 1
85133015186.2
85133015187. 3
85133015188. 4

1

L ]

a0

1

TSIV

Question Number : 48 Question Id : 8513303801 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Neutron was discovered by

1. Marie Curie

2. James Chadwick
3. Ernst Rutherford
4. Neils Bohr
Options :
85133015189. 1
85133015190. 2
85133015191.3
85133015192. 4

Question Number : 48 Question Id : 8513303801 Question Type : MCQ Option Shuf Co”egeduniag
Question Number : Yes Is Question Mandatory : No Single Line Question Option : N =7 s ersestsuentRevew patorm
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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G- &1 @i FEfifEad J 9 fegd &t 4t 2

1. /A &

2. Oty grsfdm
3. 3% TIPS
4, id dig]
Options :
85133015189. 1
85133015190. 2
85133015191.3
85133015192. 4

Question Number : 49 Question Id : 8513303802 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ICs having level of integration (number of circuit components or logic gates) between 100 and
1000 are known as

1. 551

2. MSI

3 L5l

4. VLSI
Options :
85133015193. 1
85133015194. 2
85133015195. 3
85133015196. 4

Question Number : 49 Question Id : 8513303802 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U Ushlded gRai (1cs) ’EH 100 91000 & §1d GHIGCH &1 W1 (URUY g4l 1 =01 Hudl
a® 112) Bldl &, Padld & -

1. 551
2. MSI
3. LSI
4, VLSI gcollegeduniag

Options :
85133015193. 1
85133015194. 2
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85133015195. 3
85133015196. 4

Question Number : 50 Question Id : 8513303803 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Frequencies in the UHF range normally propagate by means of

1. Ground waves
2. Sky waves

3. Surface waves
4. Space waves
Options :
85133015197. 1
85133015198. 2
85133015199. 3
85133015200. 4

Question Number : 50 Question Id : 8513303803 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UHF TRaR &1 Aghual 9E g gRT 9o @] & ?

1. Yt

2. Y &
3. gE aa
4, T al
Options :
85133015197. 1
85133015198. 2
85133015199. 3
85133015200. 4

Part II Chemistry 4
Section Id : 85133049
Section Number : 2
Sccton type: Oniin 8 collegedunia
Mandatory or Optional : Mandatory )
Number of Questions : 50
Number of Questions to be attempted : 50
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Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133053
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8513303804 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Salvarsan was discovered by Paul Ehrlich for the treatment of

1. Fever

2. Depression
3. Allergy

4. Syphilis
Options :
85133015201. 1
85133015202.2
85133015203. 3
85133015204. 4

Question Number : 51 Question Id : 8513303804 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ui Ugicrd o Uodidd @1 @i o9 SUaR & ol @1 i 98 6

1. g9 (wdY)
2. HAdHlg
EREG T
Options :
85133015201. 1
85133015202. 2
85133015203. 3
85133015204. 4

gcollegedunias

Question Number : 52 Question Id : 8513303805 Question Type : MCQ Option Shuf = _ "o
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The structure of Saccharin is

0
o
C

L
1. N—CH;

Options :

85133015205. 1
85133015206. 2
85133015207. 3
85133015208. 4

Question Number : 52 Question Id : 8513303805 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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B o] U1 & -
0
i
':'\
1. CE N —CHy
Uf?*"‘n
0
i
C'l.
> (L
S#’
&0
0
||
3. CC'HH
1
0
Ly
Df?*n
Options :

85133015205. 1
85133015206. 2
85133015207. 3
85133015208. 4

Question Number : 53 Question Id : 8513303806 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct structure of the repeat unit of necprene is

L]
-
nr
I
p)
|
-
I
L]
-_+5-

Hz | Ha
4 {fc—c— Cj*
. H
Options : gcollegeduniag

85133015209. 1
85133015210. 2
85133015211. 3
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85133015212. 4

Question Number : 53 Question Id : 8513303806 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

N GG gfe o1 Wel TR 6 -

M
-

oz

b

1]

Il

&

ha

L]
-
o
lm
i—
I
—3
‘l“hI
»_+J

H | H

4 z | 12

' ‘GC—C_C
H

Options :

85133015209. 1
85133015210. 2
85133015211.3
85133015212. 4

Question Number : 54 Question Id : 8513303807 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Terylene is prepared by the condensation of Ethylene glycol with
) I ¥ J J

1. benzene-1,2-dicarboxylic acid
2. benzene-1,3-dicarboxylic acid
3. benzene-1,4-dicarboxylic acid
4. benzoic acid

Options :

85133015213. 1

85133015214. 2

85133015215.3

85133015216. 4

Question Number : 54 Question Id : 8513303807 Question Type : MCQ Option Shuf gcollegedunias
Question Number : Yes Is Question Mandatory : No Single Line Question Option : N 7 e ressuentioiey o
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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2 @l Ui WEed & Y994 oide 9y R $id 6, 98 © -

1. 994 -1, 2 - SR@EGAD s
2. &9 -1, 3 - SRTEIGIIP TS
3. 9§91 - 1, 4-SEoEaaa® Uds
4. ¥y wfs

Options :

85133015213. 1

85133015214. 2

85133015215. 3

85133015216. 4

Question Number : 55 Question Id : 8513303808 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

One letter code for Tyrosine, an amino-acid is

1. F

2T

S

4. P

Options :
85133015217. 1
85133015218. 2
85133015219. 3
85133015220. 4

Question Number : 55 Question Id : 8513303808 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ERIR U TR & U U SiER AT s © -

1. F
2T
3. ¥
4. P
Options :

85133015217. 1 gcollegeduniag
85133015218‘ 2 & India’s largest Student Review Platform
85133015219. 3

85133015220. 4
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Question Number : 56 Question Id : 8513303809 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

‘The product (major) formed in the given organic reaction:

"\ ethanolic KOH

A s
0
1. ME
0
COOK
2.
COOK

CONH;
T

CONH2
4 @:

CONH3
Options :
85133015221. 1
85133015222. 2

85133015223.3
85133015224. 4

Question Number : 56 Question Id : 8513303809 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform

53/153



9/17/2020

T TE I AT H e Sae A §

N, ethanolic KOH

it
=
e

Options :

85133015221. 1
85133015222.2
85133015223.3
85133015224. 4

Question Number : 57 Question Id : 8513303810 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the most basic compound in the given options.

1. N-Methyl aniline

2. Phenylmethanamine
3. Ethanamine

4. N,N-Dimethyl aniline
Options :

85133015225. 1
85133015226. 2

85133015227.3 .
collegedunia:
85133015228. 4 Indi's argest Sudent Review laform

Question Number : 57 Question Id : 8513303810 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

fed 70 famedl § 9aiide &R0 OIfe &f UggH Sifay |

1. N - Bfyd T

2. Thfaa AUAm

3. TYATHHA

4. N,N - STSEE UfdE

Options :

85133015225. 1
85133015226.2
85133015227.3
85133015228. 4

Question Number : 58 Question Id : 8513303811 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following does NOT give positive Fehling's test?

1. Ethanal

2. Butanal

3. Benzaldehyde

4. Cyclopentanecarbaldehyde
Options :

85133015229. 1

85133015230. 2

85133015231. 3

85133015232. 4

Question Number : 58 Question Id : 8513303811 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g o O &9 9Ta® Weleh T Tl ¢dT 8 7

E.Hﬂdﬂ

2. FeAd

1 il

4, GFAUcTHIEEelsS gcollegedunias

Options : -
85133015229. 1
85133015230. 2
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85133015231. 3
85133015232. 4

Question Number : 59 Question Id : 8513303812 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The compound given below is called as a

1. Catechol

2. Resorcinol

3. Hydroquinone
4, Cresol
Options :
85133015233. 1
85133015234.2
85133015235.3
85133015236. 4

Question Number : 59 Question Id : 8513303812 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HOQDH

2. fifdAra
4, oigd
Options :
85133015233. 1
85133015234.2
85133015235.3

85133015236. 4 .
collegedunia:

Question Number : 60 Question Id : 8513303813 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

For the given organic reaction:

oH
MazCrz0+
A
Hz50y

‘A" (Final major product) is

G

o

0

OH

OH

OH
4, |

SOH
Options :
85133015237. 1
85133015238. 2

85133015239.3
85133015240. 4

Question Number : 60 Question Id : 8513303813 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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OH
MazCraCy n
Ha504
A (98 3d16) & :
0
1.
0

0
OH
OH
je!
504
OH
4. |
SO3H
Options :
85133015237. 1
85133015238.2

85133015239.3
85133015240. 4

Question Number : 61 Question Id : 8513303814 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which among the following methyl halides has the highest dipole moment?

1. CH3-F

2. CH3-Cl

3. CHz-Br gcollegeduniag
4, CHa-| .

Options :
85133015241. 1
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85133015242.2
85133015243.3
85133015244. 4

Question Number : 61 Question Id : 8513303814 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i fou 0 Ofte garss! 4 39 euss @l 90 Hig foigdl g 4d STY0 3=ad &

1. CHz-F

2. CHx-Cl

3. CHa3-Br

4, CHz-I
Options :
85133015241. 1
85133015242.2
85133015243.3
85133015244. 4

Question Number : 62 Question Id : 8513303815 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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The correct structure of DDT is

N
O

|
C
cl
i
@ H
|
|

s

C
H
Cl
C
.cl
T
o H
cl
cl

c
cl
cl

0

Options :

85133015245. 1
85133015246. 2
85133015247.3
85133015248. 4

Question Number : 62 Question Id : 8513303815 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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Ll

|

20

cl
|

c

cl

i

G H
|

|

s

C

H

Cl
C
.cl

T
o H
cl

cl

c
cl
cl

o

Options :

85133015245. 1
85133015246. 2
85133015247.3
85133015248. 4

Question Number : 63 Question Id : 8513303816 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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MNumber of sigma (o) and pi (mr) bonds present in the given molecule, respectively, are

NC CCh

HaM CN

C==cH

1. 23 sigma and 5 pi
2. 24 sigma and 5 pi
3. 24 sigma and 9 pi
4. 25 sigma and 9 pi
Options :
85133015249. 1
85133015250. 2
85133015251.3
85133015252. 4

Question Number : 63 Question Id : 8513303816 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i 6T T o] o R (o) TUT O13 () TSI &1 T3 A & -

NC CCl

Hah CH

CZ=eH

1. 230 and Sm
2. 24ag and 5mr
3. 240 and 9
4, 250 and 9
Options :

85133015249. 1
85133015250. 2
85133015251.3

85133015252. 4
gcollegeduniag

Question Number : 64 Question Id : 8513303817 Question Type : MCQ Option Shufﬂ{ng : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

The stationary and mobile phases used in paper chromatography are mainly

1. Solid and liquid respectively
2. Liquid and liquid respectively
3. Liquid and gas respectively
4. Solid and gas respectively
Options :

85133015253. 1

85133015254.2

85133015255.3

85133015256. 4

Question Number : 64 Question Id : 8513303817 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
BRISqUIcE H Ugad Tasd dYT il W™ G ¥4 U §, 0

1. 3 AU 54
2.addylgd
3. Gy i
4, 3G T Tg
Options :
85133015253. 1
85133015254. 2
85133015255.3
85133015256. 4

Question Number : 65 Question Id : 8513303818 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Among the following, the most reactive compound towards NaNH: is

1. 2-Butyne
2. 2-Butene
3. 1-Butyne
4, 1-Butene
Options : g collegedunias

85133015257. 1 N
85133015258.2
85133015259. 3
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85133015260. 4

Question Number : 65 Question Id : 8513303818 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

fofafad 48 NaNH, & Ufd 9aiide sfufsmania 9ifie & -

1.2 - eI
2.2 -9¢H
3.1 - SgEe
4.1 -dH

Options :

85133015257. 1
85133015258. 2
85133015259. 3
85133015260. 4

Question Number : 66 Question Id : 8513303819 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The number of hydrogen atoms bonded to 1°, 2° and 3° carbons respectively in the given
organic compound are

A~k

1. 18,
2. 18,
3. 20,
4,18,
Options :

85133015261. 1
85133015262. 2
85133015263. 3
85133015264. 4

o b
Mt P O D

-

Question Number : 66 Question Id : 8513303819 Question Type : MCQ Option Shuffling : No Display

uestion Number : Yes Is Question Mandatory : No Single Line estion Option : M .
Q Q y ingle Line Question Opti gcollegedumas

India’s largest Student Review Platform

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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I fou T wEAE 9iffE F 10, 209U 3° $lE U HEEd sle gl WRAH 3 O &

A~k

1.18, 4,0
2.18,6,0
3.20,6,2
4.18, 4,2
Options :
85133015261. 1
85133015262. 2
85133015263. 3
85133015264. 4

Question Number : 67 Question Id : 8513303820 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the following reaction:

4HCl + MnO; ——— = 2H,0 + MnChL + ChL
How many gram of manganese dioxide react with 7.3 g of HCL.
(Atomic weight of Mn is 55)

1.0.23

2. 4.85

3. 4.35

4,518
Options :
85133015265. 1
85133015266. 2
85133015267. 3
85133015268. 4

Question Number : 67 Question Id : 8513303820 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollegeduniaé

65/153



9/17/2020

g afufear o

4HCl + MnQO;, ——— =

IS SEHEEIES & fdod U, 7.3g HCL® 91 ATHIHaT ST

(Mn @1 GZHIY] -E8fd © 55 )

1.0.23

2. 4.85

3.4.35

4,518
Options :
85133015265. 1
85133015266. 2
85133015267. 3
85133015268. 4

ZH,O0 +

MnCl,

Question Number : 68 Question Id : 8513303821 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 11

List |

List 1I

Frequency region

Lzes

. Radiofrequency

4. Radar

1. Microwave

B. Broadcast

Ill. Infra-red region

C. Heating

Choose the correct answer from the options given below

1. 1-B; 1I-A; IH-C
2. |I-A; 11-B; 1H-C
3. 1-A; 11-C; 1I-B
4. |1-B; I-C; lI-A

Options :

85133015269. 1
85133015270. 2
85133015271.3

:
gcollegeduma@
India’s largest Student Review Platform
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85133015272. 4

Question Number : 68 Question Id : 8513303821 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

®IcH | H 68 T gl &3 &I i 11 H 38 18 39 SuanT ¥ gaied sifed

By | GANER]

. XS amgh A. TSR

I, ATSshIdd B. TR
1. Sfa¥ad &3 C. A=

el fadped g -

1. 1-B: I-A; 1I-C

2. 1-A: 1I-B; 1NI-C

3. 1-A: 1II-C: 11-B

4, |-B: I-C; 1I1-A

Options :

85133015269. 1
85133015270. 2
85133015271. 3
85133015272. 4

Question Number : 69 Question Id : 8513303822 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Neon, Krypton and Xenon were discovered by

1. Henry Moseley

2. Glenn T. Seaborg
3. Dmitri Mendeleev
4, Ramsay

Options :
85133015273. 1
85133015274. 2

85133015275. 3 gcollegedunias
85 1330 1 5276, 4 India’s largest Student Review Platform

Question Number : 69 Question Id : 8513303822 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

2T, foopla qur A & @i

1. B Al 3 Bl

2. 7 21, TiaTsl + Bl
3. St Hschia 3 3t
4 FGA DI

Options :
85133015273. 1
85133015274. 2
85133015275.3
85133015276. 4

Question Number : 70 Question Id : 8513303823 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Identify the INCORRECT statement/condition for hybridization.

1. The orbitals present in the valence shell of the atom are hybridized.

2. The orbitals undergoing hybridization should have almost equal energy.
3. Promotion of electron is essential condition prior to hybridization.

4. It is nct necessary that only half-filled orbitals participate in hybridization.
Options :

85133015277. 1

85133015278.2

85133015279. 3

85133015280. 4

Question Number : 70 Question Id : 8513303823 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YUl o o 7Teid Y / 2 B UgdH B -

1. UTHIY] & Ggieidhdl BN (@o-g ) § JuRYd ®aio ol 9efdd gid o

2. YU DRI BEDI Bl Hoil a4 S&R 8-l dNgd|

3. Y07 o Ud SadeHl &1 UId 8H1 ATTWSD ¢

4, Tg HaRG® gl @ haa e GRd Dafd Bl GHul H G of | gcollegeduniag
Options : 1= vt b
85133015277. 1

85133015278, 2

68/153



9/17/2020

85133015279. 3
85133015280. 4

Question Number : 71 Question Id : 8513303824 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Number of hydrogen bonded and coordinated water molecules associated with CuS04.5H,0,
respectively are

.2and 3

Options :

85133015281. 1
85133015282.2
85133015283.3
85133015284. 4

Question Number : 71 Question Id : 8513303824 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
CuS04.5H,0 T Tafid - grgsleH HMafEd dur Taf-ad oa U $f T HOk: ¢ -

Options :

85133015281. 1
85133015282.2
85133015283.3
85133015284. 4

Question Number : 72 Question Id : 8513303825 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollegedunias
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MgClz and LiCl are deliquescent and crystallized from aqueous solution, as their hydrates,
MgCl2.XH20 and LiCl.YH:0.

X and Y respectively are

1. 2-and 8

2. 8and?2

3. 2and 2

4 8and 8
Options :
85133015285.1
85133015286. 2
85133015287.3
85133015288. 4

Question Number : 72 Question Id : 8513303825 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
MgCl, 94T LiCl TS aTel & aul 30 Blgac MgClo.XH,0 T LiCL.YH,0 & ¥4 ¥ Sy faagH
I fpefod [Py Sd el X duTY HHI: &

1.2 d4l 8
2.8dulz2
3.2d4lz2
4.8d4ls
Options :
85133015285. 1
85133015286. 2
85133015287.3
85133015288. 4

Question Number : 73 Question Id : 8513303826 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegeduma@
India’s largest Student Review Platform
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The alkali metals react with liquid ammonia and liberate hydrogen resulting in the formation
(mainly) of

1. Imide
2. Amide
3. Amine
4, Azide
Options :
85133015289. 1
85133015290. 2
85133015291. 3
85133015292. 4

Question Number : 73 Question Id : 8513303826 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
&R ¥Tg % S{AIFRT Y SATHRT Il € qul grEgioH Sdfvid Sl ¢ e uRum ey 5=
T Y EAdI 8

1. 3HI%S

2. UHIZS

3. UHH

4. Qullgs
Options :
85133015289. 1
85133015290. 2
85133015291. 3
85133015292. 4

Question Number : 74 Question Id : 8513303827 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The common name of compounds and their formula are given below as pairs. Identify the
INCORRECT pair.

1. Quick lime - Ca0

2. Slaked lime - Ca(OH); gcollegeduniag
3I CaLJStic S{)da . NEDH & India’s largest Student Review Platform

4, Soda Ash - Na>CQO3.H;0
Options :
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85133015293. 1
85133015294. 2
85133015295. 3
85133015296. 4

Question Number : 74 Question Id : 8513303827 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
D! & TEF 99 9Y1 3% 99 U6 9 & ©9 § -d 60 T &1 T0d 91 &1 9gdH DIt -

1. [T =2 91 - ca0

2. g1 4T - Ca(OH)z

3. BIfe® 18T - NaOH

4, IS8T & - Na»CO3.H-0
Options :

85133015293 1
85133015294, 2
85133015295. 3
85133015296. 4

Question Number : 75 Question Id : 8513303828 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify A and B in the following reaction

A A
H_}Bﬂ'j T A _— B
=3ThK

1. A =HBO; B =B>0;
2 A=BH; B=B;0;
3.A =B:0; B=HBG;
4. A =BHz;, B =HBO:
Options :

85133015297. 1
85133015298. 2
85133015299. 3
85133015300. 4

gcollegedunias

Question Number : 75 Question Id : 8513303828 Question Type : MCQ Option Shuf = "o suoneeyfon
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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ﬁgﬁfl@ﬂﬁﬁﬁm Bﬁ Ugd FEIEIH' =
A

H,BO;

30K ... .

1.A=HBO,; B=B:0:
2A=BH; B=B;0;
3. A=B;0; B=HBO;
4. A =BHz; B =HBO:
Options :

85133015297. 1
85133015298. 2
85133015299. 3
85133015300. 4

Question Number : 76 Question Id : 8513303829 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The crystal structure of white tin is

1. Tetragonal

2. Cubic

3. Hexagonal

4. Orthorhombic
Options :
85133015301. 1
85133015302. 2
85133015303. 3
85133015304. 4

Question Number : 76 Question Id : 8513303829 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hibe o4 @1 foheed Ga a1 g 2

1. GIHATHIE

2. 9-lg

L

4, faunraTg gcollegedunias

Options : N
85133015301. 1
85133015302. 2
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85133015303. 3
85133015304. 4

Question Number : 77 Question Id : 8513303830 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following chemical reactions does NOT occur in a blast furnace during the
extraction of iron?

1. 3FE:03 + CO - 2FE304 = CD:

3. FeO + CO —_— = Fe + CO,
= FeO + C - s Fe + CO
Options :

85133015305. 1
85133015306. 2
85133015307. 3
85133015308. 4

Question Number : 77 Question Id : 8513303830 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TG & (BN & o aTcTyel | g ardl ol I A Tead 8 ; 98 & -

1. 3FE:03 + CO _— = EFESD_i + CD:
2. 2Fe;0y + CO . 3Fe,0; + 3CO,

3. FeO + CO = = Fe + CO,
4 FeO + C —  « Fe + CO
Options :

85133015305. 1
85133015306. 2
85133015307. 3
85133015308. 4

Question Number : 78 Question Id : 8513303831 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollegedunias
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Which one of the given hydrides of group 15 elements has the lowest boiling peint?

1. NH3

2. PH3

3. AsH3

4. SbH3
Options :
85133015309. 1
85133015310. 2
85133015311.3
85133015312. 4

Question Number : 78 Question Id : 8513303831 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
99 15 ddl & elgslsel 8§ 4 [bU®l HYHid Fyaa g 7

1. NH3

2. PH;

3. AsHs3

4. SbH;
Options :
85133015309. 1
85133015310. 2
85133015311. 3
85133015312. 4

Question Number : 79 Question Id : 8513303832 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for Mnz07, CrO3 and V205 from the following

1. MnzO7, CrO3 and V>0s are acidic

2. CrO3 is acidic while Mn>07 and V205 are basic
3. V1205 is acidic while CrO3 and MnaO7 are basic
4, Mn>07, CrO3 and V>0s5 are basic

Options :

85133015313 1 gcollegedunias
85 1330 1 53 14‘ 2 & India’s largest Student Review Platform

85133015315.3
85133015316. 4
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Question Number : 79 Question Id : 8513303832 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

99 ¥ Mn,07, Cro; YT V,05 & foit Ugl [dded AT ;

1. Mn>04, CrOz T V=05 37 B

2, CrO; AT & 94 @ Mn>07 a4 Va0s &R 5
3. V>0s 3G & 9id B Cro; 3UT Mn,O; &RIT &
4. M0, CrO; T V205 BRI g

Options :

85133015313, 1

85133015314. 2

85133015315. 3

85133015316. 4

Question Number : 80 Question Id : 8513303833 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given

c
X2 (2 X@ X (@ X (aq)

Where Ay, H® — dissociation enthalpy; A.,,H® — sublimation enthalpy;
A H® — lonisation enthalpy; A,.H® — electron gain enthalpy;
Bpyd H® — hydration enthalpy and A,.H® = lattice enthalpy

Select the correct option from the following

1. A= AgH®, B = AH®, C = ApyaH®

2. A=AH®, B = A H®. C = ApygH®

3. A= AgH®, B = A H®, C = AiH®

4. A= AuH®, B = A H®, C = ApyaH®

Options :

85133015317. 1 gcollegeduniag

85133015318. 2 ¢
85133015319.3
85133015320. 4
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Question Number : 80 Question Id : 8513303833 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

B €
X>(2) X@ — X(@— - X@aq

Where Ay, ..H® — dissociation enthalpy; A.,,H® — sublimation enthalpy;
A, H® — lonisation enthalpy; ﬂEEHE — electron gain enthalpy;
Bpya H® — hydration enthalpy and A,.H® = lattice enthalpy

1. A= éLdiss:H:EJ- B= ﬂ'-EE']—I{EI" e ‘ﬁh}ﬂH@

2. A=ApHO, B = A HO, C = AyyaH®
3. A=AgHSY, B = A.H®, C = AjH®
4. A= AwH®, B = A H®, C = ApyaH®

Options :

85133015317. 1
85133015318. 2
85133015319.3
85133015320. 4

Question Number : 81 Question Id : 8513303834 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The correct electronic configuration of Xe is

1. [Ar}4d10 55 5p5

2. [Kr]3d1° 45° 4p°®

3. [Kr}4d 19 55° 5p°®

4, [Ar3d 0 45% 4p5

Options :

85133015321. 1 gcollegeduniag

85133015322. 2 \
85133015323.3
85133015324. 4
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Question Number : 81 Question Id : 8513303834 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

4. [Ar]3d'? 452 4p®
Options :
85133015321. 1
85133015322. 2
85133015323. 3
85133015324. 4

Question Number : 82 Question Id : 8513303835 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When V05 reacts with alkalies and acids, ........X...... and .....¥.......are formed respectively.
XandY are

1.X=V0,>, Y=V0o
2. X =V0s>", Y =VOy
3. X =V0s*,  Y=VO4&
4. X =VO?, ¥Y=V,03
Options :

85133015325. 1
85133015326. 2
85133015327. 3
85133015328. 4

Question Number : 82 Question Id : 8513303835 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
gcollegedunias
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Td V05 &R®| aYl A & 91y AP el g AIX U Y S9d 81 X adT v § -

1. X =V0,>, Y=VvVo
2. X =V0,3, ¥Y=VOy
3. X =V0,*, ¥Y=VO4*
4. X =VO**, Y =V;0;
Options :

85133015325. 1
85133015326. 2
85133015327. 3
85133015328. 4

Question Number : 83 Question Id : 8513303836 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of following pairs in actinide series can have the highest oxidation state?

1. Np, Pu

2. U, Am

2 U, Em

4. Am, Cm
Options :
85133015329. 1
85133015330. 2
85133015331.3
85133015332. 4

Question Number : 83 Question Id : 8513303836 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ulde1gs Uil § 54 F H ¥ 1" Uk g & GHI dwdl & HRie0 JaRI 3w=dH ol Yhdl 6 -

1. Np, Pu
2. U, Am
3.U, Cm
4 Am, Cm
Options :

85133015329. 1 gcollegedunias
85 1330 1 5330‘ 2 & India’s largest Student Review Platform

85133015331.3
85133015332. 4
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Question Number : 84 Question Id : 8513303837 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The correct IUPAC nomenclature of [NiCl>(PPhs);] is

1. Bischleridobis{triphenylphosphine)nickel(ll)
2. Dichloridobis(triphenylphosphine)nickel(ll)
3. Dichloridodi(triphenylphosphine)nickel(ll)
4. Bischloridodi{triphenylphosphine)nickel(ll)
Options :

85133015333. 1

85133015334.2

85133015335.3

85133015336. 4

Question Number : 84 Question Id : 8513303837 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[NiClo(PPhs);] @1 Tel HISgUIEH! (IUPAC) AT & -

1. fSOaRIE! - 99 @b BRBE) B - ()
2. Sladarisl - [4Y (@RPbHT BrERe) Hdd - (1)
3. SRS SRk BRMBISA) Hdd - (1)
4. fegaaNiSIss (@R bHd BRMBIg) FHdd - (1)
Options :

85133015333, 1

85133015334. 2

85133015335. 3

85133015336. 4

Question Number : 85 Question Id : 8513303838 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegeduma@
India’s largest Student Review Platform
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The molarity of an antifreeze sclution prepared by mixing 236 g of ethylene glycol (CoHgO?)
and 300 g of water is

(Given: density of solution = 1.072 g/mL)

1.845 M
2.9.10M
3.761M

4. 14.06 M
Options :
85133015337. 1
85133015338. 2
85133015339.3
85133015340. 4

Question Number : 85 Question Id : 8513303838 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
236g U TAR@I (C;Hs0;) 04T 300g & &) AT &= T4 Ufafed (antifreeze) faea @
HieRal grll - (a1 7 @ : f3e™- &1 99 = 1.072g/mL )

1.845 M
29.10M
3.761M

4, 14.06 M
Options :
85133015337. 1
85133015338. 2
85133015339.3
85133015340. 4

Question Number : 86 Question Id : 8513303839 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For the dissolution of a solid in a liquid, choose the incorrect statement.

1. If the dissolution is endothermic, the solubility should increase with rise in temperature.
2. If the dissolution is exothermic, the solubility should decrease with rise in temp collegedunias

India’s largest Student Review Platform

3. Pressure affects the solubility of solids in liquids such that on increasing pressu - J

of solids in liquid increases.
4. Solute dissolves in a solvent if the intermolecular interactions are similar in the two.
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Options :
85133015341. 1
85133015342. 2
85133015343.3
85133015344. 4

Question Number : 86 Question Id : 8513303839 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
% 4 8 0P o9 & [dadd (dissolution) & oY, TIad YA @I g - -

1. I7¢ fgaa- =Y & 9l 919 & 964 & 91y [Gogdr 9641 el

2. A% faaa Se1&dT 8 A 19 9¢4 J fgogdr ge-! 9ifeul

3. 59 ¥ 319 @1 a9l &l a8 UYIfad &dl &1 ©14 GI18 & 961 1R g9 § 319 @1 f[dagd ggal o
4, faeiae | 9o ol ¢ 4l RIS 311 fordl aH § U ol g

Options :

85133015341. 1

85133015342. 2

85133015343. 3

85133015344. 4

Question Number : 87 Question Id : 8513303840 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement from the following

1. Standard boiling point of a liquid is slightly lower than the normal boiling point.
2. Boiling does not occur when liguid is heated in a closed vessel.

3. The Sl unit of coefficient of viscosity is kg m=157",

4. When the attractive forces between molecules of a liquid is large, the surface tension is low.
Options :

85133015345. 1

85133015346. 2

85133015347.3

85133015348. 4

Question Number : 87 Question Id : 8513303840 Question Type : MCQ Option Shuffline : No Disnlav
Question Number : Yes Is Question Mandatory : No Single Line Question Option : Dgcollegedunias
Orientation : Vertical Idis's argest Sudent Review Plaform

Correct Marks : 4 Wrong Marks : 1
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BEEEEGGEACE G

1. T §d @1 HA® SHYIS 398 9H- BUE | YIS &F gidl 5
2. Oid 54 food! d¢ U § TRF fooa1 91a1 & o dYHI® "ol eldl o

3. YEAI UG P Uhd e kg m™ 157,
4. 99 {4l 5d & Ul & did HIHYY ga AP Bidl & ol I8 o-1d 47 oidl o

Options :

85133015345. 1
85133015346. 2
85133015347.3
85133015348. 4

Question Number : 88 Question Id : 8513303841 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

:
gcollegeduma@
India’s largest Student Review Platform

List | List Il
Graph Law
B, A. Boyle's law
P
Wolume
By = s
=300
Temperature (°C)
1. v, B. Avogadro’s law
.ll'lllz
Pressure
(bar)
Vo=V,
Temperature (K)
1. Fa C. Charle's law
T
Pressure
Tv=Ts
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1\ olume

V. D. Gay-Lussac's law

“olume

Number of moles of gas

Choose the correct answer from the options given below

1. 1-0; 1-C; 1-A; IV-B
2. |1-C; 1I-D; 1I-B; IV-A
3. I-C; II-D; 1lI-A; IV-B
4, |-D; I-C; 1I-B; IV-A
Options :
85133015349. 1
85133015350. 2
85133015351.3
85133015352. 4

Question Number : 88 Question Id : 8513303841 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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®1aH | H 6T 78 91! @1 drad 11 H 57 1 39 gefyd Hoai 9 gaitd s

ey | dolclH I
[
Yolume v
L. S A. 1T @1 08
S0 renperatue (C)
W,
‘u"?
Pressure
(i, a0 / B. HIANTIE! &1 FgH
V<V,
0 Temperature (K}
Tz
/ T,
Ill. Pressure / . 9Td & Foy
T, =T,
1M\Volume
., D. 71 - q® &1 gy
0
Number of moies of gas
el [ddhcd &1 g1 Bl -

1. 1-D; 1-C I-A; IV-B

2. |-G 1I-D; llI-B; IV-A

3. |I-C; 1I-D; 1lI-A; IV-B :
collegedunia:s

4. 1-D; II-C: 1I-B; IV-A Inias argest Seadent Review Platform

Options :

85133015349. 1

85133015350. 2
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85133015351.3
85133015352. 4

Question Number : 89 Question Id : 8513303842 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 moles of helium gas at 1 bar is compressed reversibly and isothermally at 400 K to 10 bar
pressure. What is the work done (in J) on the system if R = 8.314 JK™ mol™1?

.2.29 x 10

. 2.29 x 107*
-2.29 x 10¢
~Fag. % 107
Options :
85133015353. 1
85133015354. 2
85133015355. 3
85133015356. 4

N TSR

Question Number : 89 Question Id : 8513303842 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

1 bar GI§ WX BI¢ITH 9 @ 3 moles @ IopHUITT YT GHATUE ¥4 ¥ 400K TR 10bar GIF a®
Hiifsd fem T Fem R FI ™ @ § - R = 8.314 JK mol™!

1.2.29 x 10°

2.2.29 x 107*

3.-229 x 10¢

A3 an. w107

Options :

85133015353. 1
85133015354.2
85133015355.3
85133015356. 4

Question Number : 90 Question Id : 8513303843 Question Type : MCQ Option Shuffline : Na Dicsnlav
Question Number : Yes Is Question Mandatory : No Single Line Question Option : Dgcollegedunias
Orientation : Vertical Idis's argest Sudent Review Plaform

Correct Marks : 4 Wrong Marks : 1
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Choose the incorrect statement out of the following.

1. Molar heat capacity is an intensive property.

2. AS > 0 for an isolated system (AU = 0).

3. Bomb calorimeter is used to measure the heat absorbed at constant volume.
4. Pressure, volume and work done on the system are state functions.

Options :

85133015357. 1

85133015358.2

85133015359. 3

85133015360. 4

Question Number : 90 Question Id : 8513303843 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

19 9 9 Tcd &Y &1 g9 DI

1. HITR SOHTERAT UHHE Waid 0HH 5|

2. U fgqad e (au = o) fwas > 0

3. TR 3mad W =g S &) 90+ & fod 99 dardard wgad sidl g1
4. G4 G dY91 U oF UR 1 711 1 a1 oA o

Options :

85133015357. 1

85133015358. 2

85133015359.3

85133015360. 4

Question Number : 91 Question Id : 8513303844 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Correct statement for the given reaction

Cry 0, (aq) + 505" (aq) = Cr**(aq) + 50," (aq)

is.

1. Generally SO4° is not a reducing agent

2. Crr*can be further reduced in this reaction gco"egeduw“'a
3. Oxidation by SO37 gives Cr** )

4 In CI’EDTE_ oxidation state of Cr is not +6

Options :
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85133015361. 1
85133015362. 2
85133015363. 3
85133015364. 4

Question Number : 91 Question Id : 8513303844 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

&1 778 e & fou Ul dyA & -

Cr, 0, (ag)+ 50,* (ag) = Cr**(agq) + 50, (aq)

1. 50,2 U® UOES ol ol

2. 39 YA & o+ @ 3R 3099 T8l 8l 9@dl &
3. 5052 BRI @ ¥ o+ fiRfTd g e

4. Cr072 8 Cr @1 MBI AT +6 ol o
Options :

85133015361. 1

85133015362 2

85133015363 3

85133015364 4

Question Number : 92 Question Id : 8513303845 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegeduma@
India’s largest Student Review Platform
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Match List | with List 11

List | List Il
Reaction Enzyme
Starch — Maltose A, Zymase
Il. Glucose — Ethyl alcohol+ CO, B. Diastase
Ill. Sucrose — Glucose + Fructose C. Maltase
V. Maltose — Glurcose 0. Invertase

Choose the correct answer from the options given below

1. 1-C; 1I-A; 11-D; IV-B
2 1-4&; 11-D; 111-B; IV-C
3. I-C; 1I-D; 11-A; 1V-B
4. I-B; I-A; =D, IV-C
Options :
85133015365. 1
85133015366. 2
85133015367. 3
85133015368. 4

Question Number : 92 Question Id : 8513303845 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

:
gcollegeduma@
India’s largest Student Review Platform
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&I | H fod T8 Afienanedl @1 3@ Seia &3 i Talgd| & 9 o @ad 1| 5 8, gafed

oI | 1T Il

. %TE — Alce iy IME LT
I1. TTD I — TATehigla + CO; B. SRS
1. GePIE — TIdI + ey C. gy

V. ATee i — WD D. gd2y
el fadpea & -

1. 1-C; 1I-A; 11-D; IV-B
2. 1-&; 11-D; 11-B; IV-C
3. I-C; 1I-D; 1lI-A; IV-B
4. I-B; II-A; =Dy IV-C
Options :
85133015365. 1
85133015366. 2
85133015367. 3
85133015368. 4

Question Number : 93 Question Id : 8513303846 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following method is not used for the coagulation of lyophobic sols?

1. Bredig's Arc method

2. Electrophoresis

3. Addition of flocculating ion
4. Persistent dialysis

Options :

85133015369. 1

85133015370. 2

85133015371. 3

85133015372. 4

Question Number : 93 Question Id : 8513303846 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No OOntian
Orientation : Vertical collegedunia;

Correct Mal‘ks : 4 Wl‘Ollg Mal'ks : 1 India’s largest Student Review Platform
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g faftrat § o1 1 fafd g [T 9id & Whed & AT 38l ugad ekl & 2
1. ST o fafy

2. dggadU - GaaH

3. 30 ®H ard TG &1 4T
4 5" Ry 3OiEd

Options :

85133015369. 1
85133015370. 2
85133015371. 3
85133015372. 4

Question Number : 94 Question Id : 8513303847 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The decomposition of dimethyl ether obeys the following rate law

CH;0CH,(g) — CH,(g) + H.,(g) +CO (g)
o 3’;'«,
rate = k{?’cﬂgomﬂ "

The rate of the reaction is followed by menitoring the increase in pressure in a closed vessel.
If pressure is measured in bar and time in min, then the units of rate and rate constant,
respectively are

—37 e | e
1. bar 2 min~', bar min~’

—1/2

2. bar min~7, bar "2 min~!

3. bar min~7, bar™*2 min
4, bar-"?min~T, bar min~’
Options :

85133015373. 1
85133015374.2
85133015375. 3

85133015376. 4

Question Number : 94 Question Id : 8513303847 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 gge!lﬂesgdeiluwlllfam
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SIEHIT SR @1 fqureH M9 & 999 &1 3-8 ol 6 -

CH,0CH,(g) — CH,(g) + H.(g) +CO (g)

3
G -rate = k{Pr:HaacH,,] he

HHTSHT & & B o &5 U H 19 @1 IS H Hi-1eR foar T 81 3fE T B bar H quT ¥HT
@1 min H ATIT ST 81 d & YT & (A9die & Uhd B § -

—3f3 e | e
1. bar*2 min~', bar min~"

. e | . i e
2. bar min~!, bar 2 min~]

3. bar min~7, bar™*2 min
4, bar-"?min~T, bar min~’
Options :

85133015373. 1
85133015374.2
85133015375.3

85133015376. 4

Question Number : 95 Question Id : 8513303848 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For a first order reaction, the relationship between the time required for 99% completion of
reaction (tgga) and the time required for completion of 90% of reaction (tggp) is

1. tg.g0 = 10tpgg
2. tgg0 = 2tpg9
3. tggg = 10tggp
4. togo = 2tgao
Options :
85133015377. 1
85133015378.2
85133015379. 3
85133015380. 4

Question Number : 95 Question Id : 8513303848 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
gcollegeduniag
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YT DIfe AT & T HHHAT & 99% & Y01 oiF & ol AT d THY (tg,60) TUT HATHHAT
& 90% & JUf 51 & [oId MTaRG®H T (tg.g0) o 91 THEH & -

1. tpgo = 10tp0g
2. tggo = 2tggg
3. tggg = 10tggp
4. togo = 2tgao
Options :
85133015377. 1
85133015378. 2
85133015379.3
85133015380. 4

Question Number : 96 Question Id : 8513303849 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The solubility of Sr{OH); at 298 K is 20 g/L of solution. The pH of this solution will be

(Given: molar mass of Sr = 88 g/mol; log 40= 1.60; and log 122 = 2.086)

1.13.51

2. 048
3.10.22
4.11.25
Options :
85133015381. 1
85133015382.2
85133015383. 3
85133015384. 4

Question Number : 96 Question Id : 8513303849 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
298 K W, Sr(OH), @1 fdaigdl 20g /L [Aag 8| 39 9o &1 pH 811 (IGA1 71 © - Sr &1 Hie]
%odHIH = 88g/mol ; log 40= 1.60; d4l log 122 = 2.086)

1. 13.51
G0 gcollegeduniag
3. 1[}.22 & India’s largest Student Review Platform
4.11.25

Options :
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85133015381. 1
85133015382.2
85133015383. 3
85133015384. 4

Question Number : 97 Question Id : 8513303850 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On addition of 50 mL of 0.1 M CH3COOH solution to 25 mL of 0.1 M NaCH, the pH of the
solution is

(Given: K, of CH3COOH = 1.77 % 1073 log1.77 = 0.248)

1. 9.25

2. 4.75

3. 4.01

4,918
Options :
85133015385. 1
85133015386. 2
85133015387.3
85133015388. 4

Question Number : 97 Question Id : 8513303850 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
1§ 0.1 M CH3COOH @ 50ml @1 0.1 M NaOH @ 25ml & 91y Sifiifesfa fdoar sirar & a1
faea &1 pH BN - (fGTT T/ 8 - CH;COOH & K, BT HM = 1.77 % 1073 log1.77 = 0.248)

1. 9.25

2. 4.75

3. 4.01

4,918
Options :
85133015385. 1
85133015386. 2

85133015387, 3 g lecotiurt
85133015388, 4 collegecunia:

Question Number : 98 Question Id : 8513303851 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements about a mercury cell is incorrect?

1. Zinc-Hg amalgam acts as anode.

2. Paste of HgO and C acts as cathode.

3. Paste of KOH and ZnO is used as electrolyte,

4. Cell potential is 2.50V and it keeps on decreasing with the life of the cell.
Options :

85133015389. 1

85133015390. 2

85133015391. 3

85133015392. 4

Question Number : 98 Question Id : 8513303851 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ah Ta Y g FE S S e YT aTd © -

1. fSi® - Hg H@H TS ©f Hifd &H Hdl o

2. HgO TYT C &1 Uk hyls &I Yifd e &al &

3. KOH dYT ZnO @1 U fagqd 3uyed o Yifd &1 eidl el

4, e &1 {944 2,50 V & 9UT T8 Ud & Bddiad & W1y gedl oldl o
Options :

85133015389. 1

85133015390. 2

85133015391 3

85133015392. 4

Question Number : 99 Question Id : 8513303852 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For the cell, Fe | Fe?* (0.1 M) || Cd%* (0.001 M) | Cd (s), the EMF (in Volt) at 25 ¢ is.

(Given: E%r2+ jpe = —044V  ;  EC2e 0y = —0.40 V)

1. -0.7811 '
> _0.0191 gcollegedumag
3.0.3561 )

4. -0.4651

Options :
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85133015393. 1
85133015394. 2
85133015395. 3
85133015396. 4

Question Number : 99 Question Id : 8513303852 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
25 °C IR, Td Fe | Fe2* (0.1 M) || Cd2* (0.001 M) | Cd (s), BT EMF (31 H) BT -
(G T8 : E%rt yp, = —044V 5 E%p4,0p = —0.40V)

1. -0.7811

2. -0.0191
3.0.3561

4, -0.4651
Options :
85133015393. 1
85133015394.2
85133015395.3
85133015396. 4

Question Number : 100 Question Id : 8513303853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Litmus solution, when shaken with charcoal, becomes colourless. Which one of the following
statements about adsorption from solution phase is incorrect?

1. Extent of adsorption depends on the concentration of the solute in sclution.

2. Extent of adsorption increases with increase of surface area of the adsorbent.

3. Extent of adsorption decreases with the decrease in temperature.

4. Extent of adsorption depends on the nature of the adsorbent and the adsorbate.
Options :

85133015397. 1

85133015398. 2

85133015399. 3
85133015400. 4 g collegedunias

Question Number : 100 Question Id : 8513303853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

96/153



9/17/2020

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

feieHY [a0gy &1 9e gR@d _ﬂﬁﬂmfﬂ?ﬁ' TH3 el 9Idl & df dg el af Jdl o | f[aag wawyT
Gy ey AU Y s QI Sy TTad & ?

1. AT 3 T4 fdags & 9oy & Orsal i R Sl &

2. A=Y &t W1 SHfE=INo & gy aFhd & 9+ Y dedi o

3. HfE=IYo @ S| 919 & e § gedl e

4, STy o FHAT RIS quT = &1 Udsid i AR &l 8
Options :

85133015397. 1

85133015398. 2

85133015399. 3

85133015400. 4

Part I1I Biology 4
Section Id : 85133050
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 85133054
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 8513303854 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegeduma@
India’s largest Student Review Platform
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In acquired immunity

A. Antibodies produced for allergens are of IgA type

B. B-cells themselves do not secrete antibodies but help T-cells to produce them
C. T-cells are responsible for the graft rejection

D. Each antibody molecule has four peptide chains

Choose the correct answer from the options given below

1. B and C only
2. C and D only
3. A and B only
4. B and D only
Options :
85133015401. 1
85133015402. 2
85133015403. 3
85133015404. 4

Question Number : 101 Question Id : 8513303854 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

H1gRa R ufeRifg®ar § Ry glarg -

3. UoaH & giief 39 Udiaral IgA UoR 3 gldl

q. B - DIRID] WY UIEIS] JdIG el Bl died T - DID] B CSIae! I0d B H Jeigd
g gl

9. T - DIRIDT YIRIYY FBRA H Il gidl ¢

&. Udi® teiaral 3 OR Uerss o 9ad sial g

el ffpciig 3w I -

1. Paad g ¥
P s [ i s el
3. Haa AqUTE
4, paagayld

Options :

85133015401. 1 gcqllegedunias
85133015402. 2 e
85133015403. 3

85133015404. 4
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Question Number : 102 Question Id : 8513303855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cr-Jacob Disease is caused by

1. Prions

2. Viroids

3. Virus

4. Mycoplasma
Options :
85133015405. 1
85133015406. 2
85133015407. 3
85133015408. 4

Question Number : 102 Question Id : 8513303855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
P - UHd THE ORP o

L)

1. WA
2. dAdsS

3. fqum

4, APl
Options :
85133015405. 1
85133015406. 2

85133015407. 3
85133015408. 4

Question Number : 103 Question Id : 8513303856 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The most accepted line of descent in human evolution is

1. Australopithecines — Ramapithecus — Homo sapiens — Homo habilis .
. 5 ; collegedunias
2. Homo erectus — Homo habilis — Homo sapiens s arget St Review latfor
3. Ramapithecus — Homo habilis — Homo erectus — Homo sapiens
4. Australopithecines — Ramapithecus — Homo erectus — Homo habilis — Homo sapiens
Options :
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85133015409. 1
85133015410. 2
85133015411.3
85133015412. 4

Question Number : 103 Question Id : 8513303856 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T ey & g & waifie Fidag g e -

1. Afeferitdiey — yidiey — 9 At — g4 efadiy

2. 5l 3aey — Bid! gl — si| OfdgH

3. vEOiEd — g1 efecig — 8191 3¢gey — B aftgg

4. efeat ey — IRy — gl sidey — gl efafty — giH! gy
Options :

85133015409 1

85133015410. 2

85133015411. 3

85133015412. 4

Question Number : 104 Question Id : 8513303857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Polycistronic genes are generally found in

1. Bacteria

2. Amoeba

3. Slime molds
4. Insects
Options :
85133015413. 1
85133015414. 2
85133015415. 3
85133015416. 4

Question Number : 104 Question Id : 8513303857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Ontion : No Ontion
Orientation : Vertical collegedunias

Correct Marks : 4 Wrong Marks : 1 India’s largest Student Review Platform
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1. oitaroy

2. fftar |
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4, Pl d
Options :
85133015413. 1
85133015414. 2
85133015415. 3
85133015416. 4

Question Number : 105 Question Id : 8513303858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statements I: Activation of Na™ channels is responsible for the absclute refractory period.

Statements lI: Relative refractory period is the interval during which second action potential
can be elicited, provided the stimulus is strong enough.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

85133015417. 1

85133015418. 2

85133015419.3

85133015420. 4

Question Number : 105 Question Id : 8513303858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollegeduniag
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el By feu B

T | :

Na* 9a @1 Gfehddl guf [ibfded ®rd & o Swadi 8|
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Tt Risfaea @1 fidi uites dRfRme @ ugd &1 3w &, e gam €igay & gr
Y 30 fdodl o 9%l 6|

JRIad HYAl & AYR R Gel fadedig I g -

LGRS I T YT 11 9d &

2. GHI Y | TUT HYH 1 T & |
3. @Y | I & 9UT $YH || 39d Bl
4. U | HGT & TU FY 1| TA B
Options :

85133015417. 1

85133015418. 2

85133015419. 3

85133015420. 4

Question Number : 106 Question Id : 8513303859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Plant growth regulator that is synthesized in regions where rapid cell division occurs

1. Abscissic Acid
2. Ethylene

3. Cytokinin

4, Gibberellic Acid
Options :
85133015421. 1
85133015422.2
85133015423. 3
85133015424. 4

Question Number : 106 Question Id : 8513303859 Question Type : MCQ Option Shu’ ) N )
Display Question Number : Yes Is Question Mandatory : No Single Line Question O collegedunia:
Orie ntation : Vertical & India’s largest Student Review Platform

Correct Marks : 4 Wrong Marks : 1
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4, forelfeTep o
Options :
85133015421. 1
85133015422. 2
85133015423. 3
85133015424, 4

Question Number : 107 Question Id : 8513303860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term "Ecosystem” was proposed by

1. E.P. Odum
2. A. G. Tansley
3. E. Haeckel
4. R. Mishra
Options :
85133015425. 1
85133015426. 2
85133015427. 3
85133015428. 4

Question Number : 107 Question Id : 8513303860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
FHITTTH Weg fova faar T -

1.3. 11 3fiH
2. .o, i
3.%. 304

4, AL e
Options :

85133015425. 1 gcollegeduniag
85 1 3 30 1 5426‘ 2 & India’s largest Student Review Platform

85133015427.3
85133015428. 4
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Question Number : 108 Question Id : 8513303861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In contrast to Aves, Mammals have

A. synsacrum

B. corpus callosum

C. mammary gland without teats
D. ear pinna

E. pneumatic bones

Choose the correct answer from the options given below

1. B and D only

2. A, B and D only
3.C, D and E only
4. A and E only
Options :
85133015429. 1
85133015430. 2
85133015431.3
85133015432. 4

Question Number : 108 Question Id : 8513303861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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4. Haqd Ady g
Options :
85133015429 1
85133015430. 2
85133015431. 3
85133015432. 4

Question Number : 109 Question Id : 8513303862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List I
A. Stroma I. Vacuole membrane
B. Plasmodesmata II. Infoldings in mitochondria
C. Tonoplast I1l. Fluid inside Chloroplast
D. Cristae IV. Cytoplasmic connections

Choose the correct answer from the options given below:

1. A-(lly, B-(I1), C-(IV), D-(1)
2. A-(1), B{II), C-(ll), D-(IV)
3. A-(lll), B-(1V), C=(1), D~(II -
4. A-(IlT), B-(11), C-(1), D-(IV) gconegedu"'a

Options :
85133015433. 1
85133015434. 2
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85133015435.3
85133015436. 4

Question Number : 109 Question Id : 8513303862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gt - | & gl - 1| & ary i & -

Tl - | Tl - |l

H, = I EICiNE|

4. WISHISTIE (I Ascidmi-aal & 3id: 9oy
g.eH@Re |l . saaa® @l ARG aA
g, foeet V. DIRADT 7 Gra=idh

el fd@cild SR g -

TA-1,&-1,9-1V, -1
2H-1,9d-1L"-1ll,g-1V

3.3-11,9-1V,

g-1L,a-1l

434-1,9d-1L,9-1, -V

Options :

85133015433. 1
85133015434. 2
85133015435.3
85133015436. 4

Question Number : 110 Question Id : 8513303863 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumag
India’s largest Student Review Platform
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A microbiologist identified salinity resistance gene in an actinomycete. Which of the following
plasmids can be used to generate salt-resistant crop using the bacterial gene?

A. Cry - Plasmid

B. BT - Plasmid

C. Ti - Plasmid

D. BAC - Plasmid

E. pET - Plasmid

Choose the correct answer from the options given below

1. B, C and D only
2. B only

3. C only

4. A Cand E only
Options :
85133015437. 1
85133015438. 2
85133015439. 3
85133015440. 4

Question Number : 110 Question Id : 8513303863 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Uas Y& dl-d gRI Ta MR § aaurid o4 @ @ia &1 | 9 9 4 & 91 «iiers
TURIE! USTd & Jedie- | SiidrY] Wi &l WarT fdhal o Yddl o |

3. TT5 - WIS

4. BT - WIS

g, Ti - @IS

T BAC - WIS

T, pkT - WIS

el [gecdig SR I

1. ®haqq, 9dulg

2. B0 § gcollegeduniag
al w :L:l. 4 India’s largest Student Review Platform
4 haa 3, Gaurg

Options :
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85133015437. 1
85133015438.2
85133015439. 3
85133015440. 4

Question Number : 111 Question Id : 8513303864 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statements I: Neutral variation occurs due to point mutations in non-coding regions.
Statements lI: Neutral variation does not confer a selective advantage or disadvantage.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

85133015441. 1

85133015442.2

85133015443. 3

85133015444. 4

Question Number : 111 Question Id : 8513303864 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumag
India’s largest Student Review Platform
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Ta By fRUTUE -
wYUA -1 ;
I [AfiEar, 9 SIS &5 H Ui e SaRdd- & BRI gidl o

YA -]

31 fafirsdr fafed ary 2aEr 81 &1 SRS el aidl 8|
JWRIa FYAI & AYR R el f[dbediy S g4

1. G BY - | qUT Y - | S

2. GHI YT - | TUTHYT - 1| 3EE © |
3. B - | TG & qUT YA - || T ©
4. U - | T g T FYA - | T B
Options :

85133015441. 1

85133015442, 2

85133015443, 3

85133015444. 4

Question Number : 112 Question Id : 8513303865 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If E. coli is grown in the absence of lactose, it will stop the synthesis of

1. Ribonuclease

2. B-lactamase

3. B-galactosidase
4. Pyruvate kinase
Options :
85133015445. 1
85133015446. 2
85133015447. 3
85133015448. 4

Question Number : 112 Question Id : 8513303865 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Ontian : Na OOntian
Orientation : Vertical collegedunia:

COI‘l‘ect Mal‘ks : 4 Wl‘OIlg Marks : 1 India’s largest Student Review Platform
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F @icrs @i daery fafg= 91 1 4de € Y &1 93ayu &6 S

1. AZEGdde
2. B - daeiEs

3. B - R EeY
4, UI3%de B39
Options :
85133015445, 1
85133015446. 2
85133015447. 3
85133015448. 4

Question Number : 113 Question Id : 8513303866 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List 11
A. P-wave I. Ventricular repolarization- relaxation phase
B. P-Rinterval |Il. The onset of ventricular depolarization - leads to

ventricular contraction

C. QRS complex |lll. Time for the impulse to be conducted from SA
node to ventricles through the AV node

D. T- wave IV. Atrial depolarization - leads to atrial contraction

Choose the correct answer from the options given below:

1. A-(Il1), B-(IV), C-(I1), D-(1)
2. A-(IV), B-(Il1), C-(I1), D-(1)
3. A-(IV), B-(Il1), C-(1), D-(II)

2 )

4, A-(), B-(1), C-(uny, D-(1v
Options :

85133015449. 1
85133015450. 2
85133015451.3
85133015452. 4

Question Number : 113 Question Id : 8513303866 Question Type : MCQ Option Shu’ ) N
Display Question Number : Yes Is Question Mandatory : No Single Line Question O collegedunia:
Orientation : Vertical & India’s largest Student Review Platform

Correct Marks : 4 Wrong Marks : 1
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Tl -1 &1 il -1l & Ty HaE 31 -

i -| gl -1l

Hp-Tdl . et O oaeH fasmg s

g P-RATUA (I FoRl O SaeE & U O Fod Riesd @1 sy

. QRS HIETEE Ill. SA - 18 U g d® AV - A18 & gRI g Udle &1 95g
G T -l v, H1fead O=: 199 - foge uRum ey Hifd<d daaq
el [dwedld IR 9 -

T A-,d-1V,H-1l,q-1
2H-IV,d-11L,9-1l, q-1
3.H-IV, d-1L,F-1,G-1l
4. 3-1,d-1L,"H-1l,q-IV
Options :

85133015449. 1
85133015450. 2
85133015451.3
85133015452. 4

Question Number : 114 Question Id : 8513303867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following has "anucleate” cells

1. Sieve tube elements
2. Xylem Parenchyma
3. Companion cells

4. Phloem Parenchyma
Options :

85133015453. 1
85133015454. 2
85133015455. 3
85133015456. 4

Question Number : 114 Question Id : 8513303867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollege -
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2. SIgaH GRADIEH
3. HHUAE DIfIeT
4, Ty RASRl
Options :
85133015453. 1
85133015454. 2
85133015455. 3
85133015456. 4

Question Number : 115 Question Id : 8513303868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements

A. Length of the food chain is generally limited to 3-4 trophic levels due to energy loss.

B. Length of food chain depends upon the producer

C. In hydrarch succession, lichen is the pioneer community

D. Removal of most of the carnivores in an ecosystem results in an increased population of
deer

E. Removal of 80% of top carnivores results in greatly increased growth of vegetation

Choose the correct answer from the options given below

1. A B and C only
2. C, D and E only
3. A, Dand E only
4. A, B and D only
Options :
85133015457. 1
85133015458. 2
85133015459. 3
85133015460. 4

Question Number : 115 Question Id : 8513303868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollegeduniag
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. Jasa® § aigd 9are 998 o
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el [dmeda I I -

1. %aq 3, §auT g
2. Haa g, G aul g
3. Haq 3, g aul g
4, $H3q A, ddU g
Options :
85133015457, 1
85133015458. 2
85133015459. 3
85133015460. 4

Question Number : 116 Question Id : 8513303869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Terrestrial life evolved from aquatic life due to

1. Development of extra-embryonic membranes
2. Development of glandular skin

3. Modification of appendages into limbs

4. High body temperature

Options :

85133015461. 1

85133015462. 2

85133015463. 3

85133015464. 4

Question Number : 116 Question Id : 8513303869 Question Type : MCQ Option Shugcollegeduniaé
Display Question Number : Yes Is Question Mandatory : No Single Line Question O "~ st suientovionpiaiom
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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el UR Sl &1 olaiig oild] 9§ [g®r FY SRl 3 g3l -

1. &Tel Yuity el &1 Hai
2. 1T w1 @1 [dprg

3. 9Url &1 fae & oo

4, 3= MR E daHH
Options :

85133015461. 1
85133015462. 2
85133015463. 3
85133015464, 4

Question Number : 117 Question Id : 8513303870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the secretory phase in the human menstrual cycle also called? How long does it last?

1. Luteal phase, four

2. Follicular phase, four

3. Follicular phase, fourteen
4. Luteal phase, fourteen
Options :

85133015465. 1
85133015466. 2
85133015467. 3
85133015468. 4

Question Number : 117 Question Id : 8513303870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TS TR 4 B T SR B - o BT T § T G - fega gz |

1. T[T T, @R
2. hicHAgeR =T, IR
3. BIeageR 3aed], diGe

4, TGy Sfawyl, dice
Options :
85133015465. 1 gcollegeduniag

85133015466. 2 N
85133015467. 3
85133015468. 4
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Question Number : 118 Question Id : 8513303871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of cell division in the correct order

A. Cytokinesis

B. Metaphase

C. Anaphase

D. Telophase

E. Prophase

Choose the correct answer from the options given below

1.E B, CAD
2.A B CDE
3.EB CD A
4 A B CED
Options :

85133015469. 1
85133015470. 2
85133015471. 3
85133015472. 4

Question Number : 118 Question Id : 8513303871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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9. Herhol
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e1 o8 &l fadbcdig ST g

Options :

85133015469. 1
85133015470. 2
85133015471.3
85133015472. 4

Question Number : 119 Question Id : 8513303872 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which hormone influences water absorption in the collecting tubules of the kidney?

1. Renin

2. Angiotensin
3. Aldosterone
4. Vasopressin
Options :

85133015473. 1
85133015474.2
85133015475.3
85133015476. 4

Question Number : 119 Question Id : 8513303872 Question Type : MCQ Option Shugcollegeduniaé
Display Question Number : Yes Is Question Mandatory : No Single Line Question O "~ st suientevionriaom
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. 374
2. Ueiie A
3. UM
o
Options :
85133015473. 1
85133015474, 2

85133015475.3
85133015476. 4

Question Number : 120 Question Id : 8513303873 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List 1l
A. Karan rai . Bacterial blight
B. Pusa Komal 11, Hill bunt
C. Himgiri II. Leaf curl
D. Pusa Sadabahar IV. White rust

Choose the correct answer from the options given below:

1. A-(1), B-{l1), C-(1V), D-(llI
2. A-(IV), B-(1), C-(11), D-(IN
3. A-(l), B-(11), C-(1), D-(IV
4, A-(10), B-(), C-(1v), D-{N
Options :

85133015477. 1
85133015478. 2
85133015479. 3
85133015480. 4

L -

-
D-
D

3
Jr
4
Jr

gcollegeduniag
Question Number : 120 Question Id : 8513303873 Question Type : MCQ Option Shu 7 s ersestswent review paterm
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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i - | gl - 1l
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4. feafRi 111, 9ol e
G QU UGEeR IV, 4d T
el [dmedig IR 94 -

TA-1,d-1L,°F-1V,q-1l
2H-1v,d-1L,89-1IL,g- 1
3H-1,d-NL,8-1l,q-1V
4. 3-1l,d-1L, 8-V, a-l
Options :

85133015477. 1
85133015478.2
85133015479. 3
85133015480. 4

Question Number : 121 Question Id : 8513303874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Species found only in a given region and nowhere else in the world are called

A. Regiodemic

B. Demegraphic

C. Pandemic

D. Endemic

E. Epidemic

Choose the correct answer from the options given below

1. B only

2. B and E only

3. D only

4. A CandD only

Options :

85133015481. 1

85133015482. 2 gcollegedunias

85133015483. 3 N
85133015484. 4
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Question Number : 121 Question Id : 8513303874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

|1 U fauer & H urdi o arell siifd i i3y o 393 e el o -
3. Ricarsias

§. SHh®

. gdear]

G ®®

g qemR

el fgmedia IR g4 :

1. %ad §

2. FaAE YT g

3. HAAG

4, $H3q A, gau g
Options :
85133015481. 1
85133015482. 2
85133015483. 3
85133015484, 4

Question Number : 122 Question Id : 8513303875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
During the biosynthesis of haemoglobin in sickle cell anaemic patients, CAC codon is
transcribed to

1. GUG
2. GAG
3. CAC
4. CUC
Options :

85133015485, 1 g lecotiurt
85133015486. 2 collegecunia:

85133015487. 3 )
85133015488. 4
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Question Number : 122 Question Id : 8513303875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hirer de I & I H fgarciied & Wi 900 H CAC ®1s 9 H§ UraRa sidi & -

1. GUG

2. GAG

3. CAC

4, CUC
Options :
85133015485. 1
85133015486. 2
85133015487.3
85133015488. 4

Question Number : 123 Question Id : 8513303876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find out the correct statement(s)

A. Peristalsis is coordinated by the vagus nerve

B. When food enters into the stomach, the activity of salivary amylase stops due to pepsin

C. Deglutition centre is located in the floor of IV ventricle of the medulla oblongata

D. Absorption of cyanocobalamin takes place in the presence of intrinsic factor

E. Carboxypepitidase is a pancreatic endopeptidase that digests the peptides into amino acids
Choose the correct answer from the options given below

1. A, Cand D only
2. A, B and E only
3. A, B and D only
4.C, D and E only
Options :
85133015489. 1
85133015490. 2
85133015491. 3
85133015492. 4

Question Number : 123 Question Id : 8513303876 Question Type : MCQ Option Shugcollegeduniaé
Display Question Number : Yes Is Question Mandatory : No Single Line Question O " "stessuienovionriaom
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4,9, G duT g baq
Options :
85133015489. 1
85133015490, 2
85133015491. 3
85133015492. 4

Question Number : 124 Question Id : 8513303877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the sequence of steps followed in linear electron flow during light reaction of
photosynthesis

A. Photoexcitation of P7gg and transfer of an electron to NADP™ via ferredoxin

B. Photolysis of H,O

C. Chemiosmosis and generation of ATP

D. Photoexcitation of Pggp and release of an electron.

E. Electron transport to plastocyanin from plastoquinone via cytochrome complex
Choose the correct answer from the options given below

1. D,C B A

2B D CAE

3.D,B,ECA gcollegedunias
Options :

85133015493. 1
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85133015494. 2
85133015495. 3
85133015496. 4

Question Number : 124 Question Id : 8513303877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Y1 YEIYU &l YD1 [l § Scide o $@ig ga- HR1 &l 9g o
3, P1go 1 WebT I21A 4T B3I ERT NADP™ UR SeigeH RIHIRY
€. O & By

. TEG-THI0 TUT ATP Fde

. Pegg 1 USRI I5 104 oYl SAideH Hshra

T WA § @R R IR 92 drced & 9y 9 soigeH RIHR
el fg@edi FR 9 -

Options :

85133015493. 1
85133015494. 2
85133015495. 3
85133015496. 4

Question Number : 125 Question Id : 8513303878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Maximum species abundance occurs at which latitude?

1. 41°
2. 71°
3. 23° g
- collegedunia:
4| 5 2.\- India’s largesl%denl Review Platform

Options :
85133015497. 1
85133015498. 2
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85133015499. 3
85133015500. 4

Question Number : 125 Question Id : 8513303878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Gaiier iy 9w drc Tiees &l 98- &Y -

1. 41°

~el & b

3. 23°

4, 52°

Options :
85133015497. 1
85133015498. 2
85133015499. 3
85133015500. 4

Question Number : 126 Question Id : 8513303879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of these happen(s) in muscle contraction?

A. Increase in Ca™~ concentration level leads to the binding of calcium with a subunit of
troponin on actin filaments and thereby removes the masking of active sites for myosin.

B. During shortening of the muscle, A-bands get reduced, whereas, the |-bands retain the
length

C. A muscle fibre is a syncytium

D. Isotropic band of a myofibril consists of myosin

Choose the correct answer from the options given below

1. A and B only

2. A and C only

3. A, Band Conly

4. D only

Options :

85133015501. 1

85133015502 2 gcollegeduniag
85133015503. 3 W rmmm—
85133015504. 4
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Question Number : 126 Question Id : 8513303879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ug Ygad deldi e :
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eq @5Y 0 gdl &
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Options :
85133015501. 1
85133015502. 2
85133015503. 3
85133015504. 4

Question Number : 127 Question Id : 8513303880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegeduma@
India’s largest Student Review Platform
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Match List | with List Il

List | List Il
A. Phallomere . Intestine
B. Typhlosole IIl. Genitalia
C. Dikaryon . Algae
D. Chloroplast V. Fungi

Choose the correct answer from the options given below:

Options :

85133015505. 1
85133015506. 2
85133015507. 3
85133015508. 4

Question Number : 127 Question Id : 8513303880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Tl - | 1 Gl - 1| & Yy e &4

Tl - | - i
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el [dmedig 3R 9 -

1L3A-1,9-1,F-1IV, G-

2H-1,9-1,F-1, G-IV

-1, T 1,9 N, G- 1 # collegedunia
AH-NF-L,F-1,T- I )

Options :

85133015505. 1
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85133015506. 2
85133015507. 3
85133015508. 4

Question Number : 128 Question Id : 8513303881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which property of the water molecule enables it to function as a moderator of temperature for
living organisms?

A. High specific heat
B. High heat of vaporization
Select the correct option from the following :

1. A only

2. B only

3. Both Aand B

4, Neither A nor B
Options :
85133015509. 1
85133015510. 2
85133015511. 3
85133015512. 4

Question Number : 128 Question Id : 8513303881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. Had A

2. $ad B gcollegeduniag
3. AT B GHIT .

4. AT B GH T8l

Options :
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85133015509. 1
85133015510. 2
85133015511.3
85133015512. 4

Question Number : 129 Question Id : 8513303882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Regarding the identification of plants and animals, keys are prepared on the basis of similarity
and dissimilarity of characters. Which of the following are correct about keys?

A. Contrasting characters generally occur in a pair called a couplet

B. A choice made between two similar options resulting in accepting of only one and rejecting
the other

C. Each statement in the key is known as a lead

D. Keys are generally analytic in nature

E. Key is the collection of plants

Choose the correct answer from the options given below

1. A and B only

2. B and E only

3. B and D only

4. A Cand D only
Options :
85133015513.1
85133015514.2
85133015515.3
85133015516. 4

Question Number : 129 Question Id : 8513303882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
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1. haa A qdTa

2. paagayuld

3. Haagayl g

4. Haqd A, AU g
Options :
85133015513, 1
85133015514. 2
85133015515. 3
85133015516. 4

Question Number : 130 Question Id : 8513303883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
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Given below are two statements:

Statements I: Sewage discharge in a flowing river causes a decrease in biochemical oxygen
demand (BOD) due to biodegradation of organic matter by microbes. This leads to the
mortality of fish and other aguatic creatures.

Statements ll: Sewage discharge in a flowing river causes a sharp increase in dissolved oxygen
(DO) downstream from point of discharge due to increased consumption of DO by microbes.
This leads to the mortality of fish and other aquatic creatures.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

85133015517. 1

85133015518. 2

85133015519. 3

85133015520. 4

Question Number : 130 Question Id : 8513303883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumag
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Options :

85133015517. 1

85133015518. 2

85133015519. 3

85133015520. 4

Question Number : 131 Question Id : 8513303884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumag
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Match List | with List Il

List | List I
A. Homologous . Convergent evolution
B. Paralogous ll. Speciation
C. Analogous 1. Gene duplication
D. Orthologous V. Divergent evolution

Choose the correct answer from the options given below:

A-(1), B-(In), C-(111), D-{IV)

A-(IV), B-(ll1), C-(1), D-{I1)

A-(lll), B~(1), C-(IV), D-(I)
4. A-(ll1), B-(1), C-(l1), D-{1V})
Options :

85133015521. 1
85133015522. 2
85133015523.3
85133015524. 4

Question Number : 131 Question Id : 8513303884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015521. 1
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85133015522.2
85133015523.3
85133015524. 4

Question Number : 132 Question Id : 8513303885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is true for the F - factor, a double-stranded closed circular plasmid
DNA?

1. It can only exit autonomously

2. it can either exist autonomously or can integrate into the host chromosome
3. It is confined to the cytoplasm of bacterial cells

4. It can integrate into the host chromosomes

Options :

85133015525. 1

85133015526. 2

85133015527. 3

85133015528. 4

Question Number : 132 Question Id : 8513303885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
U0 - Haex AH® QR - 58 &G a5 14 WIS SlLuH. T -

1, 9T 39 319 Wiifqd 38 9Fhdl o

2. WEFWg Sfyal WYl HEEEY H 3: 91d 8 9l 8
3. §ieRa BIR® & &I sd d® Higd Bdl &

4, TRUTY] ShHGHY H Udhidd gH J 94H 5 |

Options :

85133015525. 1

85133015526. 2

85133015527. 3

85133015528. 4

Question Number : 133 Question Id : 8513303886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Ontion : No Ontion

Orientation : Vertical collegeduniag

Correct Marks : 4 Wrong Marks : 1
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Which one of the following is a sesamoid bone?

1. Humerus

2. Pterygoid processes
3. Quadrate

4, Patella

Options :

85133015529. 1
85133015530. 2
85133015531.3
85133015532. 4

Question Number : 133 Question Id : 8513303886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
9 3 4 fwgs Y @1 99 &
2. THYE UIg

3. BIge

4, ged

Options :

85133015529. 1

85133015530. 2

85133015531.3

85133015532. 4

Question Number : 134 Question Id : 8513303887 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
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Select all routes possible for the transport of water and minerals from root hair to the xylem

A. Transmembrane route

B. Symplastic route

C. Apoplastic route

D. Stomatal route

E. Endodermis route

Choose the correct answer from the options given below

1.A B, Cand Econly
2. B, C, D and E only
3.A, B, Cand D only
4 A B, DandEonly
Options :
85133015533. 1
85133015534.2
85133015535. 3
85133015536. 4

Question Number : 134 Question Id : 8513303887 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TR Y GI% dd o ayl Javll & Yalg &I {1 HH 90 P ;
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1. Had 3 € gJuryg
2. hgde §,gd4Ulg

3. Haq A, § TG
4, Haq 3, § G adl g gcollegedunias
Options : & India’s largest Student Review Platform

85133015533. 1
85133015534. 2
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85133015535.3
85133015536. 4

Question Number : 135 Question Id : 8513303888 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following in an order, starting from first trophic level

A. Cyclops
B. Spirogyra
C. Cat fish
D. Pelican
E. Small fish

Choose the correct answer from the options given below

1A B CD,E
2B G IDVE
3B.AECD
4B A EDC
Options :

85133015537. 1
85133015538. 2
85133015539.3
85133015540. 4

Question Number : 135 Question Id : 8513303888 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumas
India’s largest Student Review Platform
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q. P fipa

Options :

85133015537. 1
85133015538.2
85133015539.3
85133015540. 4

Question Number : 136 Question Id : 8513303889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In comparison to Annelids, Platyhelminthes exhibit

1. Pseudocoel

2. Radial symmetry
3. Bilateral symmetry
4. No body cavity
Options :
85133015541. 1
85133015542. 2
85133015543. 3
85133015544. 4

Question Number : 136 Question Id : 8513303889 Question Type : MCQ Option Shugcollegeduniaé
Display Question Number : Yes Is Question Mandatory : No Single Line Question O " st suienovionriaiom
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015541. 1
85133015542, 2
85133015543. 3
85133015544. 4

Question Number : 137 Question Id : 8513303890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Prokaryotic flagella are made up of protein filaments composed of

1. Flagellin

2. Tubulin

3. Actin

4. Myosin
Options :
85133015545 1
85133015546. 2
85133015547. 3
85133015548. 4

Question Number : 137 Question Id : 8513303890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HIdRIgied SR THS Wi AR d Hegad eidl & -

1. TSl
2. REciH
3. TacH

4 ARG
Options :

85133015545. 1 gcollegeduniag
85133015546‘ 2 & India’s largest Student Review Platform
85133015547. 3

85133015548. 4
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Question Number : 138 Question Id : 8513303891 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Select all correct matches of disease and its causative agent

A. Leprosy — Mycobacterium bovis

B. Chancroid — Haemophilus ducreyi

C. Anthrax — Bacillus subtilus

D. Foed poisoning — Clostridium perfringens

E. Syphilis — Treponema pallidum

Choose the correct answer from the options given below

1. A, Cand D only
2. B, D and E only
3.C, D and E only
4. A B and D only
Options :
85133015549. 1
85133015550. 2
85133015551.3
85133015552. 4

Question Number : 138 Question Id : 8513303891 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegeduma@
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1. Haq 3, §au g
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3. Haa Y, g au g
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Options :
85133015549. 1
85133015550. 2
85133015551. 3
85133015552 4

Question Number : 139 Question Id : 8513303892 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Restriction enzymes that produce cohesive ends can be used for

1. Blunt-end cloning

2. End- to- end cloning
3. Translation

4. Transcription
Options :

85133015553. 1
85133015554. 2
85133015555.3
85133015556. 4

Question Number : 139 Question Id : 8513303892 Question Type : MCQ Option Shugcollegeduniaé
Display Question Number : Yes Is Question Mandatory : No Single Line Question O " st suienovionriaom
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4, e
Options :
85133015553. 1
85133015554.2
85133015555. 3
85133015556. 4

Question Number : 140 Question Id : 8513303893 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Post-transcriptional modifications in eukaryotes include

1. Polyadenylation, capping, coding
2. Capping, splicing, coding

3. Coding, splicing, polyadenylation
4. Capping, splicing, polyadenylation
Options :

85133015557. 1

85133015558.2

85133015559. 3

85133015560. 4

Question Number : 140 Question Id : 8513303893 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015557. 1 gcollegeduniag
85133015558. 2 < mmmmm———
85133015559. 3
85133015560. 4
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Question Number : 141 Question Id : 8513303894 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Important differences between C; and C4 plants are

1. Kranz anatomy

2. Electron Transport System

3. Dimorphic chloroplasts

4. Cydlic photophosphorylation

5. Light reaction

Choose the correct answer from the options given below

1. A and B only
2. A and C only
3. A and D only
4. A and E only
Options :
85133015561. 1
85133015562.2
85133015563. 3
85133015564. 4

Question Number : 141 Question Id : 8513303894 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
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2. Haa A aur g
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Options :
85133015561. 1
85133015562. 2
85133015563. 3
85133015564 4

Question Number : 142 Question Id : 8513303895 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
gcollegedumag
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Match List | with List Il

List | List 1I
A. Lysosome . Cisternae
B. Peroxisome Il. rRNA
C. Golgi apparatus I H03
D. Nucleolus IV. Suicide bag

Choose the correct answer from the options given below

A-(IV), B-(IlT), C-(1), D-(In)

A-(IV), B-(I), C-{l11), D-{II)

A-(11), B-(1), C-(li1), D-{IV)

A-(1), B-(1), C-(1i1), D-{IV)
Optlons.

85133015565. 1
85133015566. 2
85133015567. 3
85133015568. 4

Question Number : 142 Question Id : 8513303895 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

85133015565. 1

143/153



9/17/2020

85133015566. 2
85133015567. 3
85133015568. 4

Question Number : 143 Question Id : 8513303896 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below is a list of microbes and their use as biofertilizer or biopesticide -

A. Mycobacterium leprae- phosphorus fixation

B. Nostoc- nitrogen fixation

C. Tuberculina maxima-white pine blister rust

D. Azotobactor- compost enhancement

E. Sphaerotheca fuliginea- cucumber powdery mildew
Choose the correct answer from the options given below

1. A, B and Conly
2. B, C and D only
3.C, D and E only
4. A DandEonly
Options :
85133015569. 1
85133015570. 2
85133015571. 3
85133015572. 4

Question Number : 143 Question Id : 8513303896 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
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Options :
85133015569. 1
85133015570. 2
85133015571. 3
85133015572. 4

Question Number : 144 Question Id : 8513303897 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the following organisms do blastopores develop into the anus?

A. Balanoglossus

B. Apis

C. Limulus

D. Pristis

E. Chaetoderma

Choose the correct answer from the options given below

1. B and C only

2. C, D and E only

3.Aand D onl .
Y gcollegedumas

4.. lﬂl. and E Gr‘ll}'r India’s largest Student Review Platform

Options :
85133015573. 1
85133015574.2
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85133015575.3
85133015576. 4

Question Number : 144 Question Id : 8513303897 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
85133015573. 1
85133015574. 2
85133015575. 3
85133015576. 4

Question Number : 145 Question Id : 8513303898 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

:
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Given below are two statements:
Statement I: The end products of Electron Transport System (ETS) are ATP and H20.
Statement II: ETS begins with a reduction of NADH+H™ and ends with the oxidation of O;.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

85133015577. 1
85133015578.2
85133015579. 3
85133015580. 4

Question Number : 145 Question Id : 8513303898 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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4. T - | 39T & AP B - 11 T B M collegedunia
Options 1t v
85133015577. 1

85133015578. 2
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85133015579. 3
85133015580. 4

Question Number : 146 Question Id : 8513303899 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of Glycolysis, starting from first to last

A. Glyceraldehyde-3-phosphate — 1,3-bis phosphoglyceric acid
B. Fructose-6-phosphate — Fructose-1,6-bisphosphate

C. Glucose — Glucose-6-phosphate

D. 3-Phosphoglyceric Acid — 2-Phosphoglycerate

E. Phosphoenol pyruvate — Pyruvic Acid

Choose the correct answer from the options given below

1.C,EA DB
2ZCDAEB
3.C,BADE
4. C, A B D,E
Options :

85133015581. 1
85133015582. 2
85133015583.3
85133015584. 4

Question Number : 146 Question Id : 8513303899 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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d. hacld - 6 - BIEhE — Haeld - 1 - 6, (99 BIEhe

Y. @I — DI - 6 - HIpe
G. 3 - BIEDEER® 3 — 2 - BRGITagE

. BIREGISA Uriide — UIsiiidd i

ol ohH @ fadedid SR I -
1LH-=qd-3H-g—4
2YH-g-3H-4-4d
3H—-d-3H-g-0

4 -H-d-g—-7
Options :

85133015581. 1
85133015582. 2
85133015583.3
85133015584. 4

Question Number : 147 Question Id : 8513303900 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A drop of each of the following is placed separately on four slides. Which one of them will
NOT coagulate?

1. Whole blood from pulmonary vein

2. Blood plasma

3. Blood serum

4. Sample from the thoracic duct of the lymphatic system
Options :

85133015585. 1

85133015586. 2

85133015587. 3

85133015588. 4

5
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Question Number : 147 Question Id : 8513303900 Question Type : MCQ Option Shuusiiug . ivv
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. TaEART PR &1 & Ta

2. 3G9 TS

3. 3qd ORH

4, fomp 47 3 URfY® sae 4 o =g
Options :

85133015585. 1

85133015586. 2

85133015587. 3

85133015588. 4

Question Number : 148 Question Id : 8513303901 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Genetic diversity

A. helps in the formation of polymorph

B. helps in speciation

C. is diversity of habitat

D. is diversity due to replacement of species within the habitat
E. is useful in adaptation to changes in environment

Choose the correct answer from the options given below

1. A, B and E only
2. B, C and D only
3.C, D and E only
4. A, B and D only
Options :
85133015589. 1
85133015590. 2
85133015591. 3
85133015592. 4

Question Number : 148 Question Id : 8513303901 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
gcollegeduniag
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911712020
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31, greitAT fafo & Tees §
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7. qoiarur § 9oard & G Head § 9EEe 8
el fdmedia IR 9 -

1. 5aa d, gaul g
2. Haa s, duTg
3. Haa Y, g aury
4, DI 3, TqUI S
Options :
85133015589. 1
85133015590, 2
85133015591. 3
85133015592. 4

Question Number : 149 Question Id : 8513303902 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In which of the following family types, does the ovary have lobes and the style emerges from
the depressions of the ovary lobes?

1. Brassicaceae
2. Apocynaceae
3. Asteraceae
4, Lamiaceas
Options :
85133015593. 1
85133015594.2
85133015595. 3
85133015596. 4
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Question Number : 149 Question Id : 8513303902 Question Type : MCQ Option Shuisiiug . ivv
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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1. SR

2. TG
3. TEIUH]

4, TEEHl
Options :
85133015593. 1
85133015594. 2
85133015595.3
85133015596. 4

Question Number : 150 Question Id : 8513303903 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List |

List I

A, Acrosome

|. Gonadotropin

B. Corpus luteum

Il. Hyaluronidase

C. Leydig cells

lll. Estrogen

D. Hypothalamus

I\, Testosterone

Choose the correct answer from the options given below:

Options :

85133015597. 1
85133015598. 2
85133015599. 3
85133015600. 4

gcollegeduniag
Question Number : 150 Question Id : 8513303903 Question Type : MCQ Option Shu ~ 7 s ersestswent reviw paterm
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TA-1,9d-1L,89-1,5-IV
Zo-0,d-N, -1V, q-1
3.9-1,d-1L,9-1V,g-1
4. 3-1l,d-1L"H-1, -1V
Options :

85133015597. 1
85133015598. 2
85133015599. 3
85133015600. 4
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